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Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 85133058
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 8513304054 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Which one of the following ratios of physical quantities has the same dimensions as that of
pressure?

1. Force/Length
2. Energy/Area

3. Energy/Volume
4. Force/Volume
Options :
85133016201. 1
85133016202. 2

85133016203. 3
85133016204. 4
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Question Number : 1 Question Id : 8513304054 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
ifad Al & id TGu e ®19 9 3urd @ faH1t e/ @ faursdl & 99 g7

1. 90 / TS
2. % / &

3.\l / S
4. 9c] / I
Options :
85133016201. 1
85133016202. 2

85133016203. 3
85133016204. 4

Question Number : 2 Question Id : 8513304055 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The main scale of a vernier callipers has |least count of Tmm. 50 vernier division coincide with
49 divisions of main scale. The vernier constant of the callipers is

1. 0.071 cm

2. 0.005 cm

3. 0002 cm

4, 0.001 cm
Options :
85133016205. 1
85133016206. 2
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85133016207. 3
85133016208. 4

Question Number : 2 Question Id : 8513304055 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct MArKS : 4 WIONE IMLATKS =......ooiiiiiiiiiiiiie ettt et e ettt e e st e e e s st e e e sabe e e e st e e e eabaeeaasteesabteesabbeesaseeesasteeeasbeeeasseeennseeennsaeennseeennseeenns 2
Options :85133016205. 1851330 L0206 ......oeeeiieiieieeieeiiete ettt e et te st e teeteestee st esteeseesseenseeneeaseesseenseenseaseenseenseenseesee st enseensesseenseanseensesseenseenseensenseenns 3
85133016207 ......ovreeerrrcerreerronerrecressnessesssrssneeeerigsiimmes g e - 1o B oot erreserisacsressresarrsaserreenesanssnsernesrnesaesneennesnessnes 4
85133016208 .......ccceeerreeerrrerrvnerrecrersoersocssresaggionse Mer e BboresadanssnreseeeseosasssaneseesnessBiige s BN 120 Figosreonsssrersessarssnseseesseosarssasersosessasssnsersosseosnsssasensessessnes 4

IHTR Seiiod & 4o THH @ HeIdHi® 1mm 81 IR B9 & 50 YT 791 09 & 49 W &
Turdt 21 TR et ol a4 1R Fadie ¢ -

1. 0.071 cm

2. 0.005 cm
3. 0.002 cm
4, 0.001 cm

Question Number : 3 Question Id : 8513304056 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Siemens is the Sl unit of

1. Thermal conductivity
2. Electrical conductivity
3. Amplification factor
4, Impedance
Options :
85133016209. 1
85133016210. 2

85133016211. 3
85133016212. 4
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Question Number : 3 Question Id : 8513304056 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

1 €1 T T Hifae Tl &1 S| mﬁm{ziemeng} %?

1. SEAT ATl
2. faggd Iramd
3. S UTi®

4, yfcraret

Options :

85133016209. 1
85133016210. 2
85133016211.3
85133016212. 4

Question Number : 4 Question Id : 8513304057 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The component of vector 4 = 3i + 4 along the direction of § = § - j is given as
1. —[31 + 4f]
& pop oy
2. EEE[ } ‘l-j]
% %[3: + 4]
]' - -
4. _:“f—@[jr T "hl-l
Options :
85133016213. 1
85133016214. 2

85133016215. 3
85133016216. 4
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Question Number : 4 Question Id : 8513304057 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

B = f—j‘ﬁ*ﬂ* & SfeRr wfew 4 = 37+ 4jﬁﬂfm%’:
1. —[31 + 4j]
1
2. —=[31+ 4j]
V2
3 - [3f + 4]]
-— 131
3 ]
4 : [31 + 4]
v B £
51.,"'5 J
Options :
85133016213. 1
85133016214. 2
85133016215. 3
85133016216. 4

Question Number : 5 Question Id : 8513304058 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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A car moving in positive x direction is retarded uniformly. Which one of the following velocity-
time graphs correctly represents the motion of the car?

v B
_'_'__,_—"'-'_'-'—'_-'-F-'-'_
1. "
t
Vi
: >
2. \\
""-H.\_\_\_hh
"
3
t
VA
4,

.

Options :

85133016217. 1
85133016218. 2
85133016219. 3
85133016220. 4

Question Number : 5 Question Id : 8513304058 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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YT [GIN H TTid Sl (gl BR &I UHgHHE Aicd [ddr a1 &1 =i 601 a1 &4 91 37-999
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4
|
t
Options :

85133016217. 1
85133016218. 2
85133016219. 3
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85133016220. 4 Question Number : 6 Question Id : 8513304059 Question Type : MCQ Option Shuffling : No Display Question Number :
Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A ball is thrown vertically upward from a tower 105m high with an initial velocity 20m/s. How

long does the ball take to reach the ground? (g=10m/s?)

1. 35

2. 55

375

4 65

Options :
85133016221. 1
85133016222. 2

85133016223.3
85133016224. 4

Question Number : 6 Question Id : 8513304059 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

105m Fd! fhdl HHR U Dis 716 20 m/s & 97 § FWER HU B! T 8| €l I Ugd- H 48
g fpan 999 il {g=’|[ﬁlm;‘52'j

1. 35

2. 55

375

4 65

Options :
85133016221. 1
85133016222. 2

85133016223. 3
85133016224. 4
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Question Number : 7 Question Id : 8513304060 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Two trains A and B are moving parallel to each other in opposite direction with veocity va and
vg respectively. A monkey is running on the roof of the train A, with a velocity vy (w.r.t. train A)
opposite to va. The velocity of the monkey observed by a person on the ground will be

T.va-vy

2. Va + Vg

3 Vg + V- Va
4, VE -V + Va
Options :
85133016225. 1
85133016226. 2

85133016227. 3
85133016228. 4

Question Number : 7 Question Id : 8513304060 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Gl Yamfsal A 3R B U g & GHMR faudia fommstt & o0 v, 3R v &1 & fqeE 81 3is
gaX SISl A B B UV, & femn & faudid 377 vy, T SIS Wi gl t(Rdl IR Ee fordt aafag ot
§7GX I 97 AT -

1. Va-Viu

2. Va+Vy

3. Vp+V-Va
= UE'UM"‘UL‘\
Options :
85133016225. 1
85133016226. 2
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85133016227.3
85133016228. 4

Question Number : 8 Question Id : 8513304061 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

A ball is thrown upward at an angle of 45° with the vertical with a velocity v. During its entire
journey, we can say,

1. its total momentum will be constant

2. its total kinetic energy will be constant

3. its vertical component of momentum will be constant

4. its horizontal component of momentum will be constant

Options :

85133016229. 1
85133016230. 2
85133016231. 3
85133016232. 4

Question Number : 8 Question Id : 8513304061 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

T 1 B SR & 9 45 f$70 & DI R FW f AR M v § Tl o1l & | /G 8 o1 D
&R, 89 &g 9@d & @ -

1. Dol Yot FRR T

2. P Tias Sl (e giil

3. ¥d7 @1 dead 9@ R
4, a7 31 &fcel ge® U= B

Options :
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85133016229. 1
85133016230. 2
85133016231. 3
85133016232. 4

Question Number : 9 Question Id : 8513304062 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Two point masses with masses my = 2g and mg = 3g are connected by a massless rod of
length 1m (see figure below).

The centre of mass of the system will lie at a distance of

—— im —_ [
L] L]
ma mp
1. 0.4m from my
2. 0.6m from my
3. 0.5m from my

4, 0.7m from mg

Options :

85133016233. 1
85133016234.2
85133016235.3
85133016236. 4

Question Number : 9 Question Id : 8513304062 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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al fdg S, mA = 2g SR mB = 3G, 1 Hied i Tdlg & a1 SedHH dicl U 31S RIS 84 &
(7 <)

.-—— Im E—

L ]
Ma Mg
[BTa & ZouH Bl dg, Iy Gl U= [Ud g
1. mA T 04m
2. mA Y 06m
3. mAT05m
4 mAT0.7m

Options :

85133016233. 1
85133016234. 2
85133016235.3
85133016236. 4

Question Number : 10 Question Id : 8513304063 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

A body of mass m is moving in a horizontal circle of radius R with a frequency v. The
magnitude of centripetal acceleration acting on the mass is given by

1. 4mm*R

2. 4m?vR

3. 4n?v?R

4. 4n®v?R?
Options :
85133016237. 1
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85133016238. 2
85133016239. 3
85133016240. 4

Question Number : 10 Question Id : 8513304063 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

SHM m @ By 1908 Bl R & &l ga § <1aR , ¥ 7T 32 381 51 359 v | SRR
3fiydeg @Yoy &1 AT B ;

1. 4mmv*R

2. 4m?vR

3. 4n*v?R

4, 422 R
Options :
85133016237. 1
85133016238.2
85133016239. 3
85133016240. 4

Question Number : 11 Question Id : 8513304064 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Two identical solid spheres of mass 1.0 kg and radius 5.0 cm are fixed at the ends of a light rod
so that the separation between the centres is 40.0 cm. The moment of inertia of the system
about an axis perpendicular to the rod passing through its midpoint is

1. 2x10° kgm?
2. 41x107% kgm?
3. 82x107% kgm?
4, 82x10°% kgm?
Options :
85133016241. 1
85133016242. 2

85133016243. 3
85133016244. 4

Question Number : 11 Question Id : 8513304064 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

GHM 1.0 kg SR AWl 5.0cm & & Ga9H 6149 71Id [h4] go] 85 o 4RI IR 39 WOR oS & (&
39 7Iicl & Pl & ald GUDHH 40.0 cm & | 39 M@ @1 35 & & 7Y fdg ¥ 7o+ are oadd
H&f B U S YU g -

1. 2x10kg m?

2. 41x107%kg m?
3. 82x10 kg m?
4. 82x10"%kg m?

Options :

85133016241. 1
85133016242. 2
85133016243.3
85133016244. 4
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Question Number : 12 Question Id : 8513304065 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

A boat of mass 200 kg is accelerated by an engine of power 16 kW. If the boat covers a
distance of 72 km in 2 hours, the acceleration of the boat is

1. 8x1072 r'r'|;‘52
2. 8x10°" m/s?
3. 8 m/s®

4. 80 m/s°

Options :

85133016245. 1
85133016246. 2
85133016247.3
85133016248. 4

Question Number : 12 Question Id : 8513304065 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

200kg S04 B fr il H1d DI 16kw fdd & 5o GRI @Rd gl T gl Ofc g Ad 2 8¢ § 72
km X1 o Bl &, A 1 P @0 & -

1. 8x10%2 m,’s2
2. 8x107" m/s?
3. 8 m/s?

4. 80 m/s°
Options :
85133016245. 1

85133016246. 2
85133016247. 3
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85133016248. 4

Question Number : 13 Question Id : 8513304066 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

A ball is moved in earth’s gravitational field as shown in the figure. The work done by the
earth's gravitational force on the ball, as it moves from point A to point E along the path
shown is given by, (potential energy is devoted by U)

e
E/ N\‘j-'u
s
Hn /-' '“»\C
-

!
A '*,
1. —[Ug — U,]

2. —[(Ug — Up)+ (Ug— U]
3. —[(Up - Up) + (Ug — UL)]
4, [Ug — U]

Options :

85133016249. 1
85133016250. 2
85133016251.3
85133016252. 4
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Question Number : 13 Question Id : 8513304066 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

3 T GRIT 3F9R f5dl 7ie &f gedl & ey & 8 TfaaH feam T g | it 0 oy |
39 71e @ fdg A U 65 £ 9% 11 &3- 1 gdl & eaid iy 99 gR1 601 T/ & ¢ -

,--”’F-__Q.__-"'
® My,
N b
ﬂff p
.
AE
1. "‘|UE £ UA]

2. =[(Ug = Up) + (Uz — Uc)]
3. —[(Up — Ug) + (Ug — Uy )]
4-[UE Z UAI

Options :

85133016249. 1

85133016250. 2

85133016251. 3
85133016252. 4

Question Number : 14 Question Id : 8513304067 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Imagine that there exists a planet whose mass and radius are both half that of the earth. The
acceleration due to gravity on that planet will be

1. g/4

2. g/f2

3. 2g

4. 4g

Options :
85133016253. 1
85133016254. 2

85133016255.3
85133016256. 4

Question Number : 14 Question Id : 8513304067 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

A e U1 DI 78 & ST sood SR Biodn g €1 gl @t g 3 et 81 a9 S8 W
oY R g BT A BT -

1. g/4
2. g/2
3. 2g
4. 4g

Options :

85133016253. 1
85133016254. 2
85133016255.3
85133016256. 4

Question Number : 15 Question Id : 8513304068 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1
Three vessels shown below have equal base area. If equal volume of a liquid is poured in each
of them, which of the following statements is correct regarding the force on the base of the
vessels

L] |
) ! 1)
\ r /
4 i !
\ i /

A B C

1. Force is maximum for A

2. Force is maximum for B

3. Force is maximum for C

4. Force is same for A, B and C
Options :
85133016257. 1
85133016258. 2

85133016259. 3
85133016260. 4

Question Number : 15 Question Id : 8513304068 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1
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- geie T F 9 E Ul e & YR $1 SA%d 99 & 4G 37 UEl 8 Ul 8 99 3haH
B 5d U 0, 91 -1 UEl & YR W adl & gay A A RO T @ 91 0 dU- S5l 6 7

1.UH A & YR G g AUhdd 8l

2. UH B & HIUR W 9d JH8®Hdd g

3.0E C & YR W &d 3Udhad g

4, A Ul A, B 3R ¢ & YR W g 99 B
Options :

85133016257. 1

85133016258. 2

85133016259. 3
85133016260. 4

Question Number : 16 Question Id : 8513304069 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

Which one of the following is NOT a scalar?

1. Viscosity

2. Strain

3. Pressure

4, Force
Options :
85133016261. 1
85133016262.2

85133016263. 3
85133016264. 4
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Question Number : 16 Question Id : 8513304069 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :

1
Froffed 78 9 sRT TR T 2

1. TG

2. fagpid

3. Gl

4. d9q
Options :
85133016261. 1
85133016262. 2

85133016263. 3
85133016264. 4

Question Number : 17 Question Id : 8513304070 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

The lengths and radii of four wires made up of same material are given below. Which of these
will have the largest extension when the same tension is applied?

1.L=50cm, r=0.25 mm
2. L=100cm, r=0.5 mm
3L=200cm, r=2mm
4 L=250cm, r=25mm
Options :

85133016265. 1
85133016266. 2

85133016267. 3
85133016268. 4
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Question Number : 17 Question Id : 8513304070 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

A Uerd 9 94 IR IR S arErgdl 3R Bt i1 < 81 HH TG B SuEi B3 1 5
¥ g ar ¥ gad s gmr g 2

1. L=50cm , r=0.25mm
2. L=100cm , r=0.5mm
3. L=200cm , r=2mm

4 1=250cm , r=2.5mm

Options :

85133016265.
85133016266.
85133016267.
85133016268.

N O R S

Question Number : 18 Question Id : 8513304071 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

Two rods A and B having same length of 1 m are at the same temperature 30°C. the co-
efficient of linear expansion of A and B are in the ratio 4:3. At what temperature, the length of
B will be the same as the length of rod A at 180°C7

1. 200°C
2. 230°C
3. 250°C
4. 270°C
Options :
85133016269. 1
85133016270. 2
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85133016271. 3
85133016272. 4

Question Number : 18 Question Id : 8513304071 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T TTs, 1 HeX @1 &l B A 3R B THH dY, 30°C, W el A 3R B & IA® IR Ulid! &l

U 4 : 3 & [T 10 W3S B DI G415 S5 A DI 180°C TR T & G5 8l 7

1. 200°C
2. 230°C
3. 250°C
4. 270°C
Options :
85133016269. 1
85133016270. 2
85133016271. 3
85133016272. 4

Question Number : 19 Question Id : 8513304072 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

A flask contains oxygen and hydrogen in the ratio of 2:1 by mass. The temperature of the
mixture is 27°C. What is the ratio of average kinetic energy of oxygen and hydrogen atoms?

—

—

|
+1

1.
2.
3:
-

-
oo

e

Options :
85133016273. 1
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85133016274. 2
85133016275. 3
85133016276. 4

Question Number : 19 Question Id : 8513304072 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

ferdit v & SHTaRiioH 3R FRgIoH So0HH @ 3FER 2 : 1 30 H g1 fH80 &1 a1 27°C B
HiaHTe SR BTE oM o URHII[S @ HIGd TTies Sl &1 SJuTd a1 & ?

-

— o

1.
2.
3.

Vv8: 1

- o

iy
Y

Options :

85133016273. 1
85133016274. 2
85133016275.3
85133016276. 4

Question Number : 20 Question Id : 8513304073 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

An electric heater supplies 6000J of heat to a system and the system performs 3000 J of work.
What is the increase in the internal energy of the system?

1. 6000
2. 9000)
3. 3000J
4 Zero

25/191
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Options :
85133016277. 1
85133016278. 2
85133016279. 3
85133016280. 4

Question Number : 20 Question Id : 8513304073 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Pl [9Gdd olex 104! (MHE B 6000 ) F¥ B AT Bl & a4l FE™ 3000) 1 & G

&l © | 39 o @l e Sl | fhdil IS skl & :

1. 6000]J

2. 9000

3. 3000J

4. Zero
Options :
85133016277. 1
85133016278. 2

85133016279. 3
85133016280. 4

Question Number : 21 Question Id : 8513304074 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1
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A linear simple harmonic oscillator consisting of block of mass 6 kg and a spring of spring
constant 600 N/m, as shown in the figure. The horizontal surface is frictionless. What is the
time period of oscillation of the oscillator?

Ay ¥ x| 6ig

;I' g 0 ¢ 0 9

1.10s
2.1/10 s
3.063s
4.05s
Options :
85133016281. 1
85133016282. 2

85133016283. 3
85133016284. 4

Question Number : 21 Question Id : 8513304074 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1
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S B e SIR SR Y 1 B Y TR e S i T 1 T 1 5 6 kg
T BHAT BT BHMT Hgdi® 600 N/m & | &fde I8 94T Ied 81 59 Gla® & la- &l Hadq
LA

/|

.10 s
.1/10 s
.063s
.05s

B T L I

Options :

85133016281. 1
85133016282. 2
85133016283.3
85133016284. 4

Question Number : 22 Question Id : 8513304075 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

For a pipe of length 30cm, closed at one end, the fundamental frequency is
(velocity of sound = 330m/s)

1. 200 Hz
2. 250 Hz
3. 275 Hz
4, 300 Hz
Options :
85133016285. 1
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85133016286. 2
85133016287. 3
85133016288. 4

Question Number : 22 Question Id : 8513304075 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

U 83 R §g 30cm TFETS o fobell UISY &1 H SA1gR Bidl § - (FH 197 = 330m/s)

1. 200 Hz
2. 250 Hz
3. 275 Hz
4. 300 Hz
Options :
85133016285. 1
85133016286. 2

85133016287. 3
85133016288. 4

Question Number : 23 Question Id : 8513304076 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

. : . : . ! . i i1
A metallic wire with mass per unit length 6x107° kg/m is under tension of 80N. What is the
speed of transverse wave in the wire?

1. 100 m/s

2. 500 m/s

3. 600 m/s

4, 10,000 m/s
Options :
85133016289. 1
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85133016290. 2
85133016291. 3
85133016292. 4

Question Number : 23 Question Id : 8513304076 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

Uehich THels g 6x10°3 kg/m ATl THdl 4T & TR TR 60N &1 149 5| 59 OR TR {0
a1 @ g g ?

1. 100 m/s

2. 500 m/s

3. 600 m/s

4. 10,000 m/s
Options :
85133016289. 1
85133016290. 2

85133016291. 3
85133016292. 4

Question Number : 24 Question Id : 8513304077 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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A wave travelling along a string is described by

v(x,t) = 0.004 sin(80x — 4t)

in which the numerical constants are in S| unit. The amplitude and the time period of the wave
is, respectively,

1. 0.004m, 4s

2. 0.004m, /25
3. 80m, m/2s

4, 80m, 4s
Options :
85133016293. 1
85133016294. 2

85133016295. 3
85133016296. 4

Question Number : 24 Question Id : 8513304077 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :

1
fardl SR @ e TMadH [Bdl a4 P19l 59 PR AT T/ & - y(x1)=0.004 sin (80x-4t)
39 Sifdrd Hgdic sI HFS! H g1 59 9 ®I SHGH 3R Hdderd o -

1. 0.004m, 4s

2. 0.004m, /25
3. 80m, m/2s

4, 80m, 4s
Options :
85133016293. 1

85133016294. 2
85133016295. 3
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85133016296. 4

Question Number : 25 Question Id : 8513304078 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

The terminal velocity of a ball of radius 2mm falling through an oil tank of viscosity 1 kgm™'s’
Tis 6cm/s. What is the viscous drag force acting the oil?

1. 2.26x10* N
2. 2.26x107° N
3.2.26x107% N
4 2.26x10°T N
Options :

85133016297. 1
85133016298. 2

85133016299. 3
85133016300. 4

Question Number : 25 Question Id : 8513304078 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

4l ’Iia::;nr‘ﬁ'd’s'1 & od 9 Y1l [Pl @1 # TGl 2mm Bog1 &1 Tl 71l &1 9 37 6 cm/s
& 39 Td! IR ®riid SO0 YU g4 (a6 7

1. 2.26x10* N

2. 1.2.26x10° N
3.2.26x107% N

4 2.26x10°T N
Options :
85133016297. 1
85133016298. 2
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85133016299. 3
85133016300. 4

Question Number : 26 Question Id : 8513304079 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

A rectangular glass slab transmits only 80% of the intensity of incident light. The fraction of
transmitted light intensity through 4 such identical slabs, placed in contact, will be nearly,

1. 20%

2. 41%

3.51%

4. 64%
Options :
85133016301. 1
85133016302. 2

85133016303. 3
85133016304. 4

Question Number : 26 Question Id : 8513304079 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

Bid I [l AGATHR Uled § TUfid UHI S diaal & dad 80% 8 IS sidl 6| §0dh
3 7l 59 YR @1 IR GauH UEaIH § TSI B diadl T URAHG HIT SRT, T

1. 20%
2. 41%
3.51%
4. 64%

Options :
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85133016301. 1
85133016302. 2
85133016303. 3
85133016304. 4

Question Number : 27 Question Id : 8513304080 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

A telescope is used to observe two distant objects 15 km away. If the separation between the
objects is 1.5 m and they are illuminated by light of wavelength 600 nm, the diameter of the
objective lens of the telescope to just resolve the objects will be,

1.7.32x107% cm
2.7.32x102 cm
3:732cm
4,7.32x10" em
Options :
85133016305. 1
85133016306. 2

85133016307. 3
85133016308. 4

Question Number : 27 Question Id : 8513304080 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1
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farell <CiRepId T UANT 15 km Gl & &l GU=Y MUUST &I UMl S & o [dl 1 8 | afe 57
G fUust & &1 gU®H 1.5 m & aY1 3 600 nm TUTGE & TR GRT UG W T 7141 &, df 39
foust &1 31 - 3id faufed & & e & sifiesad o & /g gr -

1.7.32x10% cm
2.7.32x10% cm
3.732cm
4.7.32x10' em
Options :
85133016305. 1
85133016306. 2

85133016307. 3
85133016308. 4

Question Number : 28 Question Id : 8513304081 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

Which one of the following statements is NCT true for Young's double slit experiment?

1. Fringe width is proportional to wavelength 2

2. Fringe width is proportional to slit width d

3. Fringe width is inversely proportional to screen distance D

4. Fringe width is proportional to the position of fringe from the central miximum
Options :

85133016309. 1

85133016310. 2

85133016311. 3
85133016312. 4
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Question Number : 28 Question Id : 8513304081 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :

1
U & fg ol wam & fou R R e syl d 9 o W 981 761 € 2

1. fibet disrs avred " 1 & SIHHRU! Bidl 8l

2. fibet ders Bl &1 disrs * d' & SHaIdl sl ol

3. fib TISTS UG &1 gdl ‘D' & ogep AUl Bidl 6

4 fire 915 U8 & &% 3 fibe @1 Uy & srgeparond eidt &1
Options :

85133016309. 1

85133016310. 2

85133016311. 3

85133016312. 4

Question Number : 29 Question Id : 8513304082 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

A monochromatic unpolarized beam of light is incident on a transparent plate at a certain
angle. The reflected rays are found to be totally polarized. The angle between the reflected ray
and the refracted ray will be,

1..80°

2. 60°

3. 45°

4. 30°
Options :
85133016313. 1
85133016314. 2

85133016315. 3
85133016316. 4
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Question Number : 29 Question Id : 8513304082 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

BIg Thaull Jfgfdd UHTE 4o T 1% B | fhdl IR UigsT IR SH19a- & dl & | Wididd
g TRl foxof gofa: yfad ardl Srdl 8| gRiafad AR gafdd fa=ur & &g Sior ghT -

1. 90°

2. 60°

3. 45°

4, 30°
Options :
85133016313. 1
85133016314. 2

85133016315. 3
85133016316. 4

Question Number : 30 Question Id : 8513304083 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

A proton enters a region of uniform electric field F of strength 10° N/C with velocity 10° m/s,

perpendicular to the electric field. The displacement of the proton when it covers a distance of
2.0 cm will be,

(mp = 1.67x1027 kg, g = 1.6x1071° Q)

1.19.2 mm
2. 1.92 mm
3. 0.192 mm
4. 0.0192 mm
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Options :
85133016317. 1
85133016318. 2
85133016319. 3
85133016320. 4

Question Number : 30 Question Id : 8513304083 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

i3 WIEiH 10° N/C digdl @ byl ThgAH [aedd &4 fah aa a1 10 m/s W fdgga & &
T YA XAl ¢ 2.0 cm X1 a8 B W Ui &1 [G=IT0= BT - (m=1.67x10" kg,
ge=1.6x10"7 ()

F

1. 19.2 mm
2. 1.92 mm
3.0.192 mm
4 .0.0192 mm

Options :

85133016317. 1
85133016318. 2
85133016319. 3
85133016320. 4

Question Number : 31 Question Id : 8513304084 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1
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A 600 pF capacitor is charged by 10V battery. It is then disconnected from supply and
connected to another uncharged 600 pF capacitor, Energy lost in the process will be

1. 3x107% J

2. 1.5x1077 ]
3. 3x10°%

4. 15x108 )
Options :
85133016321. 1
85133016322. 2

85133016323.3
85133016324. 4

Question Number : 31 Question Id : 8513304084 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

fadl 600pF & THIRA &1 10V &1 dedl T H1afd foear a1 8 | fh 34 31gfd U §eTdh 600pF &
fardt = dutfa O daiferd fgr 1ar 81 59 uferar § qw S shil -

1. 3x107% J

2. 1.5x1077 ]
3. 3x107%

4, 15x10%8 )
Options :
85133016321. 1
85133016322. 2

85133016323.3
85133016324. 4

Question Number : 32 Question Id : 8513304085 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

The current flowing through the resistance Ry, when Ry = Raand Rz = Ry is

_|"j_/\‘|_‘ﬂ Rs

oy

| ey
4(R,+R;)
2V
2. ———
(R, +R3)
v
3.—
ERI 15 REJ
4
"'j.-'.—
2(R; + Ry)

Options :

85133016325. 1
85133016326. 2
85133016327.3
85133016328. 4

Question Number : 32 Question Id : 8513304085 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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e Ry=R, T R3=Ry &, al WiaI% R, ¥ Halled YR G -

1.—
4(R,+ R,)
2V
2.—
(Ry+ R3)
%
3.—
(Ry+ R3)
vV

4 ——
2(Ry + R;3)

Options :

85133016325. 1
85133016326.2
85133016327.3
85133016328. 4

Question Number : 33 Question Id : 8513304086 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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When the potential difference applied in a conductor is doubled and alsoc length of the
conductor is halved, the drift speed of electrons in the conductor will

1. not change
2. be halved

3. be four times
4. be doubled

Options :

85133016329. 1
85133016330. 2
85133016331. 3
85133016332. 4

Question Number : 33 Question Id : 8513304086 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

od TR UG [GHAR B &l 41 9YT 910 & TRy DI ST HR fed1 &l 8, 1l grcs J
gaideH| B 3udrg 91d -

1. giafdd =gl gl
2. 314t 1 S B

3. IR T B Bl
4, &I TH1 81 el 8

Options :

85133016329. 1
85133016330. 2
85133016331. 3
85133016332. 4

Question Number : 34 Question Id : 8513304087 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

A solencid has an area 'A’ and length 'L', number of turns per unit length 'n". If B is the
magnetic field, then magnetic energy stored in the solencid is given by

Options :

85133016333.
85133016334.
85133016335.
85133016336.

AW N~

Question Number : 34 Question Id : 8513304087 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :

1
fadl g1 &1 &A% ‘A", T5ETs 'L 91 Uid Ui arels auel @) 98l 'n' & | dfc g=a
&7 8 8, d 38 uiAITa® & 99id ga g Sl & ;

1 pgn
1 g

%L( > )

Hont

Sl of gl

12
3 EL[i)Z

2 Mugn
i 1L B

2 (Juﬂn,)
Options :
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85133016333. 1
85133016334. 2
85133016335. 3
85133016336. 4

Question Number : 35 Question Id : 8513304088 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

Eddy current is gainfully employed in

1. Transformer

2. Electromagnet

3. Induction furnace
4, Electric motor
Options :
85133016337. 1
85133016338.2

85133016339. 3
85133016340. 4

Question Number : 35 Question Id : 8513304088 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

YaR YR & AHEES ST el &

1. SIAHIHE H

2. fagga g=o |
3. IR HSl H

4. fagga A
Options :
85133016337. 1
85133016338. 2
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85133016339. 3
85133016340. 4

Question Number : 36 Question Id : 8513304089 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

An electric field of 10 N/C is applied across a wire of area of cross section 10°m?, through
which a current of 1A is flowing. The resistivity of the material of the wire is

1. 108 Om
2.107 Om
3.107 Om
4,107 Om
Options :
85133016341. 1
85133016342. 2

85133016343.3
85133016344. 4

Question Number : 36 Question Id : 8513304089 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

IR PIC 8B 108m? & gl R forgd 1A YT Halled ol 6! &, & (431 G 10 N/C BT Dl
faGgd YT S0gad a1 7191 & | 59 aR & Yard @i Uikl & -

1.10° Om
2,107 Om
3.10% Om
410" Om

Options :
85133016341. 1
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85133016342.2
85133016343. 3
85133016344. 4

Question Number : 37 Question Id : 8513304090 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

The magnetic meridian at a place is

1. a point

2. the line joining magnetic north and south pole
3. a vertical plane

4, a horizontal plane

Options :

85133016345. 1
85133016346. 2
85133016347.3
85133016348. 4

Question Number : 37 Question Id : 8513304090 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

ot = R gadig TERR Bl 6 ;

1. Pl5 fdg

2. TEBI IR Yd AR Lo &0l Yd $1 e areht
3. BIg SR Td

4, oi3 &fas 9

Options :

85133016345. 1
85133016346. 2
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85133016347.3
85133016348. 4

Question Number : 38 Question Id : 8513304091 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

A small signal voltage V(t) = V, sin wt is applied across an ideal inductor. Which of the following
statements is correct

1. The phase of current I(t) is behind the phase of the voltage by 90°

2. There is no phase difference between current and voltage

3. Over a full cycle, the inductor does not consume any energy from the voltage source
4. The phase of the current leads the phase of the voltage by 180°
Options :
85133016349. 1
85133016350. 2

85133016351. 3
85133016352. 4

Question Number : 38 Question Id : 8513304091 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :

1
farell o RHE dleedl V(t)=vp sin wt @I [bdl el IR & BRI 9 sFugad fear g g1 -l
fear T &F 9 du- Hel 8 7

1. 4RI (1) D Holl diecdl B Pl H 90° TY & |

2. YR 3R dleed] & §d BIs Sl 7ol o

3. 0% WX 9% H RS dicedl Jid 9 ®ls Sl 395 ol &l o
4, 4RI I(t) P} Bl dicedl B Hal H 180° AT |

Options :
85133016349. 1
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85133016350. 2
85133016351. 3
85133016352. 4

Question Number : 39 Question Id : 8513304092 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

In hydrogen atom, the kinetic energy, potential energy and the total energy of electron are
represented by symbols as KU and E respectively. Which one of the following relations is

correct?

1. K=U=2E

? K= —u =
b
)

3 K=—=-F
2

4 K=U0=—-F

Options :

85133016353. 1
85133016354. 2
85133016355. 3
85133016356. 4

Question Number : 39 Question Id : 8513304092 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

48/191



Waﬁﬁaﬁmﬁﬁ@?ﬁmw fufaet el auT oo Sl &l HHEE Udidl K, P
3R T gR1 T fooa T 8| a9 i feg T o 9 ddy 98l § 2

4K=U=—E

Options :

85133016353. 1
85133016354. 2
85133016355.3
85133016356. 4

Question Number : 40 Question Id : 8513304093 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

A photosensitive plate has threshold frequency which is in the range of blue light. It can also
exhibit photoelectric effect, if illuminated by

1. Orange light
2. Yellow light
3. Green light
4. Violet light
Options :
85133016357. 1
85133016358. 2

85133016359. 3
85133016360. 4
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Question Number : 40 Question Id : 8513304093 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :

1
fordl U QuTe! ufedl &1 cedl HIgh Hid Yo & URIR I 81 g8 Uit dl ue faggd uvE
ot e=1f gl B afe 33 ueiw far o ;

1. AR UhT= R
2. Uil Ul g1
3. B U G

4, ST UHTE GRI
Options :
85133016357. 1
85133016358. 2

85133016359. 3
85133016360. 4

Question Number : 41 Question Id : 8513304094 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

An alpha particle and an electron have the same linear momentum. The ratio of the
de Broglie waves associated with them is

1. 2:1

2. 11

3.4

414

Options :
85133016361. 1
85133016362. 2

85133016363. 3
85133016364. 4
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Question Number : 41 Question Id : 8513304094 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fardl Tetr U SR [l soiaci &1 IR Y7 T ¢ | 379 Yag ¢ a1l divTa=] ol Ui 8

1. 2:1

2. 1:1

3. 41

4 14

Options :
85133016361. 1
85133016362. 2
85133016363. 3
85133016364. 4

Question Number : 42 Question Id : 8513304095 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

The mass number of two nuclei, A and B are 27 and 64 respectively. The ratio of their radii will
be,

1. 34

2. 548

3. 21

4 12
Options :
85133016365. 1

85133016366. 2
85133016367. 3
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85133016368. 4

Question Number : 42 Question Id : 8513304095 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

Gl DT A R B BT FouHM YT HHI: 27 AR 64 51 IAD! Hoa1ai & S 87 -

1. 34
258

3 271

4. 1:2

Options :
85133016365. 1
85133016366. 2

85133016367. 3
85133016368. 4

Question Number : 43 Question Id : 8513304096 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

In the given nuclear fission reaction

235 1 Xx 89g¢r 1
52U + g — s Ba + “JKr + 33n

the values of x and y are, respectively

e

143, 36
a7
, 36
S

o U L

- -
T P P
— t Ln L

Options :
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85133016369. 1
85133016370. 2
85133016371. 3
85133016372. 4

Question Number : 43 Question Id : 8513304096 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
&l T AHSY feavs SHIseal H 2330 + n— Ba + °JKr + 33n sl x ARy #AAE,
ﬁﬁﬂﬂ;’:

1.143,

R

R —

f- B
Ao W
L L
=]

141, 37

o

Options :

85133016369. 1
85133016370. 2
85133016371. 3
85133016372. 4

Question Number : 44 Question Id : 8513304097 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The truth of a logic gate is given below

Input Output
& B Y
0 T 0
1 0 0
1 1 0
0 0 1

The logic gate is

1. OR Gate

2. NOR Gate
3. AND Gate

4. NAND Gate

Options :

85133016373. 1
85133016374. 2
85133016375. 3
85133016376. 4

Question Number : 44 Question Id : 8513304097 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :

1
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fordt qifore Tic & s Rl Hi< &1 T §

4. NAND T

Options :

85133016373. 1
85133016374. 2
85133016375.3
85133016376. 4

Question Number : 45 Question Id : 8513304098 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The collector of a transistor is

1. Lightly doped and larger in size as compared to emitter
2. Moderately doped and larger in size as compared to emitter
3. Heavily doped and larger in size as compared to emitter
4. Lightly doped and thin compared to emitter
Options :
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85133016377. 1
85133016378. 2
85133016379. 3
85133016380. 4

Question Number : 45 Question Id : 8513304098 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :

1
far el Tiforeey &1 YuE® gidl & -

1. gel 91 HifGd a4l Scdoid ®i ol H 9159 H 991

2. QYR HifGd 94T SToid &I qo-l H 9159 H g3

3. 9gd YD HIfGd TU I&eid Bi ga-l H 913 H §8]
4, el 91 Hifed aul 3cdoid o qoHl § gadl

Options :

85133016377. 1
85133016378.2
85133016379. 3
85133016380. 4

Question Number : 46 Question Id : 8513304099 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is an example of point to point communication mode?

1. AM broadcast
2. FM broadcast
3. television

4. Telephone
Options :
85133016381. 1

85133016382. 2
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85133016383.3
85133016384. 4

Question Number : 46 Question Id : 8513304099 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :

1
fofeiRad & 4 ®H 91 fdg U fdg db YaR @i faur 3gew g 2

1. HH HIgfoid T9R0
2. H1g Argfod TER
3. eaiiido

4, TEHHA

Options :
85133016381. 1
85133016382. 2

85133016383. 3
85133016384. 4

Question Number : 47 Question Id : 8513304100 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Which one of the following statements is NOT true for sky wave?

1. Sky wave has frequency range from few MHz upto 40 MHz
2. Sky waves are reflected by ionosphere

3. Sky waves are used for satellite communication

4. Sky waves are used by short wave broadcast services
Options :
85133016385. 1

85133016386. 2
85133016387. 3
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85133016388. 4

Question Number : 47 Question Id : 8513304100 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

I Il (Sky Waves) & faug F FofeiRad § 4 &9 91 U6 $y9 98l Gel g ?

1. Y a8l @1 gt IR ©8 MHz T 40 MHz O &idl B
2. o qUf 31d HUsd 4 GRialdd ol wiidi g

3. o Gl @1 IUGRT 3udE HaR H ool 9iidl g |

4 T G @1 SUGRT Ty a4 TERU Har R [l Sl &

Options :

85133016385. 1
85133016386. 2
85133016387. 3
85133016388. 4

Question Number : 48 Question Id : 8513304101 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A p-n photo dicde is fabricated from a semiconductor with band gap of 2.4 eV, it will be able

to detect electromagnetic wave of wave-length

1. 450 nm
2. 600 nm
3. 700 nm
4. 800 nm

Options :

85133016389. 1
85133016390. 2
85133016391. 3

85133016392. 4
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Question Number : 48 Question Id : 8513304101 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

fardlt iel ST ®1 GfdvTH 2.4 eV 98 - Siqwd ard Seh=re® © faar 7 81 98 34 faggd
T T BT UG B G (o] aEIeH & -

1. 450 nm

2. 600 nm

3. 700 nm

4. 800 nm
Options :
85133016389. 1
85133016390. 2

85133016391. 3
85133016392. 4

Question Number : 49 Question Id : 8513304102 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Light with an energy flux of 10 W/m? falls on a non reflecting surface of area 0.5 m? at normal
incidence. The average force exerted on the surface during 100s time interval is

1. 1.66x1072 N
2. 1.66x107% N
3.1.66x10% N
4. 1.66%x107 N
Options :

85133016393. 1

85133016394. 2
85133016395. 3
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85133016396. 4

Question Number : 49 Question Id : 8513304102 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

EAHT 0.5 m? & fhdl HRIGA® UE TR TSR @1 10 w/m?2 B Big SHoll Feiad HAHTEad HTd
@%dl ol 100s 1 afd H 39 ¥ U= o arel 3d 99 © -

1. 1.66x102 N
2. 1.66x107° N
3.1.66x10% N
4.1.66x1072 N
Options :

85133016393. 1
85133016394. 2

85133016395. 3
85133016396. 4

Question Number : 50 Question Id : 8513304103 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following is NOT an optoelectronic diode?

1. Photodiode

2. Zener diode

3. Light emitting diode
4. Solar cell
Options :
85133016397. 1
85133016398. 2
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85133016399. 3
85133016400. 4

Question Number : 50 Question Id : 8513304103 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

Fafafag s g oA 4@ Hﬁl =) Eﬁ@?—lﬁvﬂm (optoelectronic) SIS ARl & 7

1. Wicls -:u:.'

2. SR 38

3. UPE S SIS
4, IR T

Options :

85133016397. 1
85133016398. 2
85133016399. 3
85133016400. 4

Part II Chemistry 6
Section Id : 85133055
Section Number : o)
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200

Display Number Panel : Yes
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Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 85133059
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8513304104 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Select the correct option for the increasing order of ease of SN1 reaction by the fellowing
compounds, on treatment with ag.KOH

"GO

CH:Ar
B‘ @
Br
C- @
Br
|
CH-CH=CH2

Y

Choose the correct answer from the options given below

1.C«=D<A<B
2ZB<C=<sA=<D
3 C<B<D=<A
4D=<=C=B=<A
Options :
85133016401. 1
85133016402. 2

85133016403. 3
85133016404. 4
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Question Number : 51 Question Id : 8513304104 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

SIig KOH @ TTY SUdIiRg hid U Y DTl gRI SN e o1 YHdl & dod HH & iad

el fawey 9T
e
CHBr

O
<

(e}
1T C«<D<A=zB
2B<«<C A<D

3 C=B=DcA
4. D=«C <B <A

Br
Br
|

CH-CH=CH;

Options :

85133016401. 1
85133016402. 2
85133016403. 3
85133016404. 4
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Question Number : 52 Question Id : 8513304105 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The reaction which gives correct products, as per the given condition is

CHy CH3

|
1. cHi—C — ocHs — 128l o oy — € ocHs + cHa

CHa CHa
CHa OH

CHs CHa

2. ; HL{ag) |
CHy —CH —0—CHa . e [CH: —[CH-T =
HI{a
3. CHa CHyg =—0 — CHy— CH—CH;—-{ m—rCH-_-.CII_-UPHCH: CH—CH=
I
- HI{sa)
" CHi—CH— CH,— O O Bianoi. M, 15 ~CH — CHy —OH4
CHs CHy

Options :

85133016405. 1
85133016406. 2
85133016407. 3
85133016408. 4

Question Number : 52 Question Id : 8513304105 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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41718 T & SJUR g8 ifufhar it wel Iag ot 8, 5 -

ﬁHa CHs
1. CH3—C — OCH; Hifaq) o ep. —c OCHs + CHal
| |
CHs CHs
CH20H
T T A
2
T @ L I
HI(aq)
3. CHy — CH; — 0 — CH3;— CH = CH3 —— " CH3CH;0H + CH;—— CH — CH3
I
4. HI(ag)
CHs — CH — CH;— O . —pCH:,—T.ZlH — CH; —OH +
{ll:Hs CH3
Options :

85133016405. 1
85133016406. 2
85133016407. 3
85133016408. 4

Question Number : 53 Question Id : 8513304106 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Select the correct option for the increasing order of acidic strength following compounds

OH

e
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OH

0 CH3

OH

Choose the correct answer from the options given below

1.C<B<A<D<E
2A<C<B<E<D
3.C<A<B<D<E
4B<A<C<E<D

Options :
85133016409. 1
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85133016410. 2
85133016411. 3
85133016412. 4

Question Number : 53 Question Id : 8513304106 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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9 DT BT i Ydddl & ded 50 & [ Yal fadbed gHT:

OH
A,
OH
®
O CHs

OH
|
e
cl
OH
|
D" ©
NO3
OH
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3.C<A<B<D=<E
4 B<A<C<E<D

Options :

85133016409. 1
85133016410. 2
85133016411.3
85133016412. 4

Question Number : 54 Question Id : 8513304107 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :

1

Which one of the following types of detergents is non-biodegradable?

1. Anionic and linear
2. Cationic and linear

3. Non-ionic and linear
4. Non-ionic and branched

Options :

85133016413. 1
85133016414. 2
85133016415.3
85133016416. 4
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Question Number : 54 Question Id : 8513304107 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

JUae (fgevele) @1 e H @ oF  frg 99 Fdlaofa &g 7

1. TIEA® dyr 3@y

2, P qUI @y

3. H-3HE JUT @
4, H-3AHE TYT TG

Options :

85133016413. 1
85133016414.2
85133016415.3
85133016416. 4

Question Number : 55 Question Id : 8513304108 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

Which one of the following structures does NOT represent 2-methyl pentane?

2.
3.
Options :

85133016417. 1
85133016418. 2
85133016419. 3
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85133016420. 4

Question Number : 55 Question Id : 8513304108 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

g Gereil | 4 o 9i 2 - Bfd U ol 3fiegdad Je didl ?

&
4

Options :

85133016417. 1
85133016418. 2
85133016419. 3
85133016420. 4

Question Number : 56 Question Id : 8513304109 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Which one of the following structures is aromatic?

CHy

Ju

Options :

85133016421. 1
85133016422.2
85133016423.3
85133016424. 4

Question Number : 56 Question Id : 8513304109 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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FEdETei g eH 9 Wak® & ?
CHa2

‘@@

Options :

85133016421. 1
85133016422. 2
85133016423.3
85133016424. 4

Question Number : 57 Question Id : 8513304110 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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The monomer unit(s) of polymer Dacron is

1. Caprolactam

2. Ethylene glycol and terephthalic acid

3. Hexamethylenediamine and adipic acid
4.1, 3 - Butadiene and styrene
Options :

85133016425. 1

85133016426. 2

85133016427. 3
85133016428. 4

Question Number : 57 Question Id : 8513304110 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

SHH G50 @I HHMAR 3018 GPEd) s/ 6 ;

1. FUICdeH
2. TRifeH g ela aur Sodfas tias

4.1, 3 - LTSS Ul ®IgH

Options :

85133016425. 1
85133016426. 2
85133016427.3
85133016428. 4

Question Number : 58 Question Id : 8513304111 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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In solid XY, 'Y* forms hcp lattice and "X’ particles are present in 3 of octahedral voids. The

formula for XY solid will be

1. X3Y3

2. Xa¥3

3. X5Y3

4, X3Ya
Options :
85133016429. 1
85133016430. 2

85133016431.3
85133016432. 4

Question Number : 58 Question Id : 8513304111 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

XY 3G H, 'Y, hep Afed (STaid) 411 & 9UT X' B Adlead (AHPhad) Rigadl & 2/3 B
o JURYT B 1 XY 319 BT 4 5ITI-

1. X3Y7

2. Xa¥3

3. X3

4 Xs5¥s
Options :
85133016429. 1
85133016430.2

85133016431.3
85133016432. 4
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Question Number : 59 Question Id : 8513304112 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

An element ‘X' having density of 9.0 gcm™ has a face-centred cubic structure with a cell edge
of 300 pm. What will be the number of unit cells present in 270 g of the element?

1. 4 445102
2.1.11x10%4
3. 2.22x10%
4 2.7x10%
Options :
85133016433.
85133016434.

85133016435.
85133016436.

N O R S

Question Number : 59 Question Id : 8513304112 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

9.0 gcm™ U7 9Tl U o X' B Baid hi=ad 4 TXa-1 & 3R I BR 300 pm B T & 370g
o Juiyd g4 Oal & I &1 il?

1. 4.44x10%4
2.1.11x10%4
3. 2.22x10%
4 2.7x10%
Options :
85133016433.
85133016434.

85133016435.
85133016436.

N O R S
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Question Number : 60 Question Id : 8513304113 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The osmotic pressure of solution formed by mixing 25 ml of 0.1 M MgCl; and 25 ml of 0.1 M
Urea at 300 K will be:

(R=0.0821 lit atm K 'mal™)

1. 2463 atm
2. 1.231 atm
3. 4926 atm
4, 3.69 atm
Options :
85133016437. 1
85133016438. 2

85133016439. 3
85133016440. 4

Question Number : 60 Question Id : 8513304113 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

300 K 9X 0.1 M MgCl, @1 25ml TYT 0.1 M GRA1 & 25 ml THdH @R §9-4Td faad- &l IR0
&I€ B

(R=0.0821 lit atm K 'mal™)

1. 2463 atm
2. 1.231 atm
3. 4926 atm
4, 3.69 atm
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Options :
85133016437. 1
85133016438. 2
85133016439.3
85133016440. 4

Question Number : 61 Question Id : 8513304114 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

0.01 Molal agueous solution of a non-volatile solute boils at 100.78°C. Its freezing point will

be:
(Ky, for water = 0.52 K kg mol™; Ky, for water = 1.86 K kg mué'1)

1. 269.72 K

2. 270.21 K

3. 27272 K

4 27122 K
Options :
85133016441. 1
85133016442.2

85133016443. 3
85133016444. 4

Question Number : 61 Question Id : 8513304114 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1
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S amgiia faea @1 0.01 Hiad Said [gagH 100.78°C IR 390dl & | ST (Schd [qadH)
fgHics SR (Scl & ol K, = 0.52 K kg mol™": &di & fAT K; = 1.86 K kg mol™)

1. 269.72 K
2. 270.21 K
3.272.72 K
4 271.22 K

Options :

85133016441. 1
85133016442. 2
85133016443.3
85133016444. 4

Question Number : 62 Question Id : 8513304115 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

M+'.-' - +3 >

Lo — - .I‘i'.:'I
| EY = 41.33v E} = —0.74V T

E? =7
For metal ‘M, £9 for M7/, will be

1.059YV
2.207V
3.044V

4 -059V
Options :
85133016445. 1

85133016446. 2
85133016447.3
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85133016448. 4

Question Number : 62 Question Id : 8513304115 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

ﬂr +7 » +3 S — Y ‘1|
2 EY = +1.33V M EJ = —0.74V i
- E:Ju =? . |

g m & M/, R g STEE ERT

1.0.59V
2.207V
3.044V

4 -0.59V
Options :
85133016445. 1
85133016446. 2

85133016447. 3
85133016448. 4

Question Number : 63 Question Id : 8513304116 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

82/191



WWW.AGRIGYAN.IN

Match List | with List 11

List | List Il

Salt Molecular formula
A. Glauber Salt l. MgS04.7H;0

B. Epson Salt Il. KCIMgCl,.6H0
C. Borax ll. NaxCO;

D. Carnalite V. Na>504.10H;0
E. Soda Ash V. NazB4C7.10H;0

Choose the correct answer from the options given below:

TA=1L B=NE=N D=L E= il
2= Bl B NGD =1 B
s MG B =N E =N B =
4A-IV,B-1,C-V,D-1l,E-1

Options :

85133016449. 1
85133016450. 2
85133016451.3
85133016452. 4

Question Number : 63 Question Id : 8513304116 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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PICH-| B DIH-1I & F1Y GHIT B :

BT BT -Ii

NER HUA

A. TS GIee (Ft) . MgSQ..7H;0
B.UWHH Ul II. KCIMgCl2.6H20
AR l1l. Na»CO3

D. PHAEE IV. Na>S04.10H:0
E. 9IST U9 ({131 &) V. NasB407.10H,0

TLA-ILB-IV,C-V,D-|,E-1I
ZA-VB-ILC-V,D-1lIl,E-I
JLA-LB-IV,C-V,D-1LE-I
4A-IV,B-,C-V,D-1Il,E-N
Options :

85133016449. 1

85133016450. 2

85133016451. 3
85133016452. 4

Question Number : 64 Question Id : 8513304117 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

Which one of the following salts will NOT give Na(g) on heating?

1. {NH4]2CF2D?
2. Ba(Nz)>

3. NH4NQ3

4, NH4NG;
Options :
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85133016453. 1
85133016454. 2
85133016455. 3
85133016456. 4

Question Number : 64 Question Id : 8513304117 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

7o au § § ©F 91 TRE &3 T2 Na(g) ol oil?

1. (NH4)2Cr207
2. Ba(N3)z

3. NH4NG;

4 NH4NOG>
Options :
85133016453. 1
85133016454.2

85133016455. 3
85133016456. 4

Question Number : 65 Question Id : 8513304118 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

The total number of lone pair of electrons in one molecule of XeFs will be

1. 1
2.18
3:19
4.17
Options :
85133016457. 1
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85133016458. 2
85133016459. 3
85133016460. 4

Question Number : 65 Question Id : 8513304118 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

XeFs & U AU E UHIP| cael- T & oo S gifl -

1.1

2. 18

3.19

4.17

Options :
85133016457. 1
85133016458. 2

85133016459. 3
85133016460. 4

Question Number : 66 Question Id : 8513304119 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

The correct trend of boiling points of hydrides of Group 15 elements is

1. NH3 < PH3 < AsH3 < SbH3 < BiH3
2. PH3 < AsH3z < NH; < SbH3 < BiH3
3. PH3 < AsH3 < SbH3 < BiH3 < NH3
4. PH3 < AsH3 < SbH3 < NH3 < BiH3
Options :

85133016461. 1

85133016462. 2
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85133016463. 3
85133016464. 4

Question Number : 66 Question Id : 8513304119 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

T4 15 dcdl & Blgalsel & HYHid I Ughl aifl :

1. NH3 < PH3 < AsHj3 < SbH3 < BiH;
2. PH3 < AsH3 < NHj3 < SbH3 < BiH3
3. PH3 < AsH3 < SbH3 < BiHz < NH3
4. PH; < AsH3 < SbH3 < NH3 < BiH3
Options :

85133016461. 1

85133016462. 2

85133016463. 3
85133016464. 4

Question Number : 67 Question Id : 8513304120 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

What will be the magnetic moment for a divalent ion in agqueous solution having atomic
number 257

1. 4.89 BM
2.5.92 BM

3. 3.87 BM

4, 2.84 BM
Options :
85133016465. 1
85133016466. 2
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85133016467. 3
85133016468. 4

Question Number : 67 Question Id : 8513304120 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :

1
S foae & TRAT 9B 25 910 U fGgaieie HEH & T Tee g S7E0l & 91 o1 8T 7

1. 489 EM
2. 5.92 EM
3. 3.87 EM
4. 2.84 EM

Options :

85133016465. 1
85133016466. 2
85133016467. 3
85133016468. 4

Question Number : 68 Question Id : 8513304121 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

Identify the transition metal ions from the given list that exhibit no colour in their aqueous
solution.

! ] ol 5 = T s
ST T T N AT MRS
Choose the correct answer from the options given below

1. Sc3*: Tid*: Zn?*
2. Sc3*: Tith: Znt
3. Ni¢™: Zn2™: Mn2~
4, Ti**; Ni#*; Zn?*
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Options :
85133016469. 1
85133016470. 2
85133016471.3
85133016472. 4

Question Number : 68 Question Id : 8513304121 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :

1

&1 172 fore © 34 <iforee Hea omae! &f ggai=g o 304 Sag faaad § el ol
¢3*: T3 Ti%; Ni2*; Zn2; Mn2*

Yol IR gHT;

1. Sc3*: Tidh: Zn®*
2. S Titt: Zn2t
3. Ni¥*; Zn®*; Mn®*
4, Ti**; Ni2*: Zn?*
Options :
85133016469. 1
85133016470. 2

85133016471. 3
85133016472. 4

Question Number : 69 Question Id : 8513304122 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Choose the correct option for the following free radicals in order of decreasing stability
A. (CgHs),C
B. (CH;).CH
C. (C4H;).C CH;
D. C4H5C(CH;),
Choose the correct answer from the options given below

1LA>C>D>8B
2Z2A>B>C>D
3B>A>C>D
4B>D>A>C
Options :
85133016473. 1
85133016474. 2

85133016475.3
85133016476. 4

Question Number : 69 Question Id : 8513304122 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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9 g Jod! & U 3= ged RI1AQ & ®H & Yol [dded gi-d :
A. (C¢Hs)aC

B. (CH;),CH

€€z Hg) 1€ EHy

D, E:H:EICH:);

T.A>C>D>8B
2A>B>C>D
3B>A>C>D
4B>D>A>C
Options :
85133016473. 1
85133016474. 2

85133016475.3
85133016476. 4

Question Number : 70 Question Id : 8513304123 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

Which of the following is a disaccaharide?

1. Fructose

2. Maltose

3. Cellulose

4. Amylopectin
Options :
85133016477. 1
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85133016478. 2
85133016479. 3
85133016480. 4

Question Number : 70 Question Id : 8513304123 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

PR s ssdoiss 6 ?

1. @E_ By

2. Hle]

3. Hﬁ Eé\\. 3

4 ufaanfEes

Options :

85133016477. 1
85133016478. 2
85133016479. 3
85133016480. 4

Question Number : 71 Question Id : 8513304124 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

Which of the following disease is caused by the deficiency of Vitamin B;?

1. Beri-Beri

2. Cheilosis

3. Pernicious anaemia
4, Convulsions
Options :
85133016481. 1

85133016482. 2
85133016483. 3
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85133016484. 4

Question Number : 71 Question Id : 8513304124 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :

1
faerfed g, Pl pH A FEH I D AT B ?

1. &30 - &4

2. fpaifag (aiig fagzm)
3. VMR T

4 BT (&)

Options :

85133016481. 1
85133016482.2
85133016483.3
85133016484. 4

Question Number : 72 Question Id : 8513304125 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

Tollen's S

In the following reaction z » R CH:CH:cO0 , Identify 'Z'
Reagent

1. RCHz CHz CHO

o

I
R CHr—C—CHs

R —CH;— € — CH:0H
0

4 R—CH=—CHzCH:CO0H

[

OH
Options :
85133016485. 1
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85133016486. 2
85133016487. 3
85133016488. 4

Question Number : 72 Question Id : 8513304125 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

=

: x : B s
ﬁqu i Tollen’s » R CH; CH, COO Z' @] UedlHY
Reagent

1. R CHz CHz CHO
O

I
R CH——CHs
3 R—CH;— ﬁ — CH>0H
| 0
J R —(|ZH —CH>CH2CO0H
OH
Options :
85133016485. 1
85133016486. 2
85133016487. 3
85133016488. 4

Question Number : 73 Question Id : 8513304126 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Which one of the following carboxylic acids is most acidic in nature?

1. Butanoic acid

2. 2-Chlorobutancic acid
3. 3-Chlorobutancic acid
4, A-Chlorobutanoic acid
Options :

85133016489. 1
85133016490. 2

85133016491. 3
85133016492. 4

Question Number : 73 Question Id : 8513304126 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :

1
9 Trsiieaice ts! | us! Ueld galivs iy g ?

2. 2 - FTIRIeAISH TS
3.3 - FIRISSAIE® TS
4 4 - FRARD U9S

Options :

85133016489. 1
85133016490. 2
85133016491. 3
85133016492. 4

Question Number : 74 Question Id : 8513304127 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following amine is most basic?

=1

i}
5 CaH_u M H3

@
CaHs NH3

F

3 CHs CHNH;

Yol

Options :

85133016493. 1
85133016494. 2
85133016495. 3
85133016496. 4

Question Number : 74 Question Id : 8513304127 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :

1
79 T 9 ®F 91 gaiis &Rig 8 ?
1 @
" CsHip NHa
. &
= [CgHg MH32

3. CHs CHaNH3
., MHE

Options :

85133016493. 1
85133016494. 2
85133016495. 3
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85133016496. 4

Question Number : 75 Question Id : 8513304128 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

Choose the correct option for the ratio t1, ¢ t1y @ t3; of a first order reaction

) S (e e e
2.1:241:481
3.1:42:164
41:3:9
Options :
85133016497. 1
85133016498. 2

85133016499. 3
85133016500. 4

Question Number : 75 Question Id : 8513304128 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

uhﬂﬁ“%ﬂﬁﬁmﬁihﬁ RV rah&ﬁfﬂﬁﬁ o foru gl fasey 9fe :

1.7 021 : 3.2
2.1:241:4.81
3.1:42:164
4.1:3:9
Options :
85133016497. 1
85133016498. 2
85133016499. 3

85133016500. 4
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Question Number : 76 Question Id : 8513304129 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

Shape selective catalysis depends upon the

1. Pore structure of the catalyst only

2. Size of the reactant only

3. Size of the product only

4. Size of both reactant and product and pore structure of the catalyst

Options :

85133016501. 1
85133016502. 2
85133016503. 3
85133016504. 4

Question Number : 76 Question Id : 8513304129 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

Y Holdey (STHR RUTHED) IaRkddl M H § fog AR axdi g 2

1. IER® Bl T WA HEF I

2, HYPRS & HPR 9T |

3. 3dG & PR 93 |

4, PR qUT IATE Gl P PR dUT SRS B T GG T

Options :

85133016501. 1
85133016502. 2
85133016503. 3
85133016504. 4
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Question Number : 77 Question Id : 8513304130 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

Which statement is true for lithium?

1. It forms LizO when burnt in Q2

2. It has lower melting and boiling point than other alkali metals
3. Its compound shows ionic character

4. Lithium is much softer than other alkali metals

Options :

85133016505. 1

85133016506. 2

85133016507. 3
85133016508. 4

Question Number : 77 Question Id : 8513304130 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :

1
PR AN AR R

1.0, § SdH W U8 Li>O S-1dl 8

2. 3 &R YTST B GO 3 SU] THIS aul HY® HE 8l
3. 39 Ui S 10 aid g

4, FOETR YIS @t ga- | ffdas warer gaeH )

Options :

85133016505. 1
85133016506. 2
85133016507. 3
85133016508. 4
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Question Number : 78 Question Id : 8513304131 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

In the Castner-Kellner process, solution of 'A' is electrolysed using a cathode of metal 'B' and
ancde of element X', Identify 'A’, 'B' and "X’ respectively

1. NaCl, Mercury, Carbon
2. NaOH, Zinc, Carbon

3. NaCl, Zinc, Carbon

4. NaOH, Mercury, Zinc

Options :

85133016509. 1
85133016510. 2
85133016511. 3
85133016512. 4

Question Number : 78 Question Id : 8513304131 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

PEN - PR UHA H,'A' B [G00d @I, 4T B & HUIS aul d@ X' & TAIS B UGN ol [aggd
ugfed far Siar g1 "A', 'B a1 X' HHR: § ;

1. Nacl, Hbd!, Hla-
2. NaoH, f5®, @1
3. Nacl, fois, ®re
4. NaOH, Hh4, foid
Options :
85133016509. 1
85133016510. 2

85133016511. 3
85133016512. 4
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Question Number : 79 Question Id : 8513304132 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

At 300K, ArG and ArG® are -12.8 KJ mol " and -11.5 KJ mol™" respectively for the following
reaction:

A(g) + B(g) — C(l) + D(aq)
If the reaction is at equilibrium, then what will be the equilibrium constant K?

1. -2.0x10°

2. 1.0x102

3. 1.0x1072

4 1.69x10°
Options :
85133016513. 1
85133016514. 2

85133016515. 3
85133016516. 4

Question Number : 79 Question Id : 8513304132 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1
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300K, W g Sififomar & forld ArG YT ArGe HHE: -12.8 KJ mol™ ' T4T -11.5 K) mol' §
A(g) + B(g) — C(I) + D(aq)
afg siffeear 9 W 1 af 90 RBRIG K FERT 7 (R = 8.314 J/mol K)

1. -2.0x10°

2. 1.0x10°

3. 1.0x1072

4. 1.69x10°
Options :
85133016513. 1
85133016514. 2

85133016515. 3
85133016516. 4

Question Number : 80 Question Id : 8513304133 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1
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The enthalpy of combustion of four allotropic forms of element X' are given as

Allotropic forms AcompH(K)/maol)
A -270.3
B -189.1
C -390.5
D -465.0

The most stable allotropic form of element X' is

1. A

2. B

FC

4D

Options :
85133016517. 1
85133016518. 2

85133016519. 3
85133016520. 4

Question Number : 80 Question Id : 8513304133 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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T X & 91 HREU ®] Ged WS A gl T8 & ;

SUREY A mpH(KJ/mal)
A -270.3
B -189.1
C -390.5
D -465.0
1A
2. B
FC
4D
Options :

85133016517. 1
85133016518. 2
85133016519. 3
85133016520. 4

Question Number : 81 Question Id : 8513304134 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

The pH of 10°% M H;50, will be

1. 5.68

2. 5.60

3.6.0

4.632
Options :
85133016521. 1
85133016522. 2
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85133016523. 3
85133016524. 4

Question Number : 81 Question Id : 8513304134 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

10 M H,50, &1 pH 8t :

1. 5.68

2.5.60

3.6.0

4 .6.32
Options :
85133016521. 1
85133016522. 2

85133016523. 3
85133016524. 4

Question Number : 82 Question Id : 8513304135 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

The solubility of BaSOy in 10~ M H550, solution will be
(Ksp for BaS04 = 1.1 x 10719

1.1.1x1003 M
2.1.1x107 M
3.55x 108 M
455x107 M
Options :
85133016525. 1
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85133016526. 2
85133016527. 3
85133016528. 4

Question Number : 82 Question Id : 8513304135 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

102 M H,50, f[aa93 & Baso, &t facasn g1l ;

{585@4%% Kgp =19 x 1[:,-1'3':'

1.1.1x1013 M
211x10" M
3.55%x10% M
455%x107" M

Options :

85133016525. 1
85133016526. 2
85133016527. 3
85133016528. 4

Question Number : 83 Question Id : 8513304136 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Arrange the following molecules in the correct decreasing order of boiling points
Hz : D2 ; H2O ; H0; ; D20
Choose the correct answer from the options given below

1. HaO5 = D20 > HyO > Dy = Hs>
2. D20 > HaOz > HyO > Dy > Ha
3. HO; > HO > DO > Hy > Dy
4, H;0 > HpOz > D70 > Ha > D2
Options :

85133016529. 1

85133016530. 2

85133016531. 3

85133016532. 4

Question Number : 83 Question Id : 8513304136 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

i fqU 7T (el & HYHIP &1 Hel Ul o & :
Ha; D> Ha0; Ha0;5; D20

1. HaO3 = D20 = HaO > D2 = Hz
2. DEC' = Hg'{:lg = H_:_uCl = Dg = H;
3. HO3 > H:0 > DO > Ha > D2
4 H>0 > HpO2 > D30 > Hy > D3
Options :

85133016529. 1

85133016530. 2

85133016531. 3
85133016532. 4
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Question Number : 84 Question Id : 8513304137 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Which one of the following molecules does NOT have a coordinate bond in it?

1. N>O

2. KNC

3.CO

4. HNQ>
Options :
85133016533. 1
85133016534.2
85133016535.3
85133016536. 4

Question Number : 84 Question Id : 8513304137 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

9 ampsit § 9 fpad geadl 94 T8l 67

1. N-O

2. KNC

3. CO

4, HNO>
Options :
85133016533. 1
85133016534. 2

85133016535. 3
85133016536. 4
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Question Number : 85 Question Id : 8513304138 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

ICl; dimerizes in order to

1. Reduce number of lone pair of electrons
2. Increase number of bonds

3. Form coordinate bonds

4. Reduce lone pair-lone pair repulsion

Options :

85133016537. 1
85133016538. 2
85133016539. 3
85133016540. 4

Question Number : 85 Question Id : 8513304138 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

ICl; 1 fgda sidr & fored fos

1. Uhld] Scidei- G 1 W O
2. TG P YT 95 &

3. g9l 4y &+
4, D! G - Thid! gid Jidmyu ud
Options :

85133016537. 1
85133016538. 2
85133016539. 3
85133016540. 4
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Question Number : 86 Question Id : 8513304139 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

The molecule having p7-d= bond is

1. H>CO3

2. HNO3

3. H3POy

4. HOCI
Options :
85133016541. 1
85133016542. 2

85133016543. 3
85133016544. 4

Question Number : 86 Question Id : 8513304139 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

a8 U foH pr-dx HE= 8 T :

1. HxCO3

2. HNO3

3. H3POy

4. HOCI
Options :
85133016541. 1
85133016542. 2

85133016543. 3
85133016544. 4
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Question Number : 87 Question Id : 8513304140 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

Which of the following statements about ozone is FALSE?

1. Pure ozone is a pale blue gas, dark blue liquid and viclet black solid

2. Ozone acts as a powerful oxidising agent

3. The two oxygen-oxygen bond lengths in the ozone molecule are identical
4. Ozone is not an allotropic form of oxygen
Options :

85133016545. 1

85133016546. 2

85133016547. 3
85133016548. 4

Question Number : 87 Question Id : 8513304140 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :

1
S & T | i 68 T8 Sy 5 U &1 704 67

1. X% HIGH U Bid] A1c 19, T8 Tdl 5d a4l 97+ Bl 6149 8
2. S UF Uad AT HRS & ¥4 4 sl o

3. ol 0] H Gl SHTiTo - Sasiad ey gyl Uh ol 6 |

4, ATl AT B HEY 76l o

Options :

85133016545 1

85133016546. 2

85133016547. 3
85133016548. 4

111/191



WWW.AGRIGYAN.IN

Question Number : 88 Question Id : 8513304141 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

The IUPAC nomenclature of coordination compound having formula [Cr{NHz)z(H;0)3] Cls is

1. Triamminetriaquachromium (lll) chloride
2. Triamminetriaquachromium (lIl} trichloride
3. Triaquatriamminechromium () chloride
4. Triamminetriaguachromium (Il) chloride
Options :

85133016549. 1

85133016550. 2

85133016551. 3
85133016552. 4

Question Number : 88 Question Id : 8513304141 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

= T, forgaT I [Cr(NHz)3(H;0)s] Cls B, BT STeguiedl A &F 1 :

1. SIS UHHCISUGTITHTH (1Il) FIRTSS

2. TRUHFCIRUSTHIHTH (Il) TERIRES
3. TRUBHHCSUHIAH IHEH (1) FIRTSS
4. TEUHHCEUSTHIHTH (1) FRIES
Options :

85133016549. 1

85133016550, 2

85133016551. 3

85133016552. 4
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Question Number : 89 Question Id : 8513304142 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List 11

List | List 11

Coordinate compound Magnetic moment

A. [NiCly)* .0 BM

B. [CO(NH3)g]?* 1. 3.87 BM
C. [Fe(CN)gl* 11l. 2.82 BM
D. [Cr(NHz)s* V. 1.732 BM

(Atomic Number of Cr = 24; Fe = 26; Co = 27; Ni = 28)
Choose the correct answer from the options given below:

1TA-NILB-1,C-1,D- IV
2ZA-1LB-1I,C-1I,LD-IV
3A-N,B-1,C-N,D-1
4 A-L,B-MLC-IV,D-1l
Options :

85133016553. 1
85133016554.2

85133016555.3
85133016556. 4

Question Number : 89 Question Id : 8513304142 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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HITH-| & SUHdIE difite] & @ied-1| H 68 T grao i Yol & Iy o $ife ;

(Wﬂ@l :Cr= 24, Fe = 26; Co = 27; Ni = 28)

chiciH-| dhlctH-

A. [NiClg}* .0 BM

B. [CO(NH3)sl**|ll. 3.87 BM
C. [Fe(CNJgl**  |lll. 2.82 BM
D. [Cr(NHz3)g]** [IV. 1.732 BM

PIcH-1 BT dIad-1l 9 Tel gHd sl :

TA-U,B-1,C-1I,D-1V
2:A-1,B=,C=1Il, D=1V
3A-NLE-L,C-IV,D-I
4 A-1,B-U,C-IV,D-1
Options :

85133016553. 1
85133016554. 2

85133016555. 3
85133016556. 4

Question Number : 90 Question Id : 8513304143 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

Choose the correct order of increasing ionic radii for the following isoelectronic species?

1.Na* <Mg** < 0¥ <F
2. Mg®* < Na* < F < 0%
3.Mg®* < Na* <0 < F
4, 0% < F < Na* < Mg**
Options :
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85133016557. 1
85133016558. 2
85133016559. 3
85133016560. 4

Question Number : 90 Question Id : 8513304143 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

T goiaeH WiEie o g gl g3 SmafHe Biearsi & 98l H &1 g -

1. Na™ < Mgz‘ <0 < F
2. Mg®* < Na* < F < 0%
3.Mg®* <Na* < 0¥ < F
4.0% < F < Na* < Mg?*
Options :

85133016557. 1
85133016558. 2

85133016559. 3
85133016560. 4

Question Number : 91 Question Id : 8513304144 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

Out of CCly, SiCls, SnCls and PbCly, which will NOT be easily hydrolyzed by water?

1. CCly

2. SiCly

3. SnCly

4. PbCly
Options :
85133016561. 1
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85133016562. 2
85133016563. 3
85133016564. 4

Question Number : 91 Question Id : 8513304144 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

CCly, SiCly, SnCly FYT PhCly H H S 91 {HHT 4 oid g4gfed Taf gl ?

1. CCly

2. S5iCly

3. 5nCly

4. PbCly
Options :
85133016561. 1
85133016562. 2

85133016563. 3
85133016564. 4

Question Number : 92 Question Id : 8513304145 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

What is the shape of BCl3.NH3?

1. Planar only

2. Square planer only

3. Tetrahedral only

4. Both planar and tetrahedral
Options :

85133016565. 1

85133016566. 2
85133016567. 3
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85133016568. 4

Question Number : 92 Question Id : 8513304145 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

BCly.NH; BT HTHR A § ?

1. THll HE

2. FGHG HE

3. IqEhaDId A

4 FUad! aul Iavbadi gl

Options :

85133016565. 1
85133016566. 2
85133016567. 3
85133016568. 4

Question Number : 93 Question Id : 8513304146 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

What is the formula of bleaching powder?

1. CaOCl;

2. Ca(0Cl);
3. CaCl;+Ca(0Cl);
4, Ca{HCO3)

Options :

85133016569. 1
85133016570. 2
85133016571. 3
85133016572. 4
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Question Number : 93 Question Id : 8513304146 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

T UTd S &1 T |18 ?

1. CaOCl>

2. Ca(OCl);
3. CaCl;+Ca(0Cly);
4, Ca({HCO3)

Options :

85133016569. 1
85133016570. 2
85133016571.3
85133016572. 4

Question Number : 94 Question Id : 8513304147 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

What are the oxidation number of three carbons in ;0.7
[Given: Structure of c,0, is D=E=g=§=‘]]

i -‘l-l-’-}l‘l
3'3"3
2. +2:0; +2
3. +2; +2:0

4.0, +2; +2

Options :

85133016573. 1
85133016574. 2
85133016575. 3
85133016576. 4
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Question Number : 94 Question Id : 8513304147 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

C,0, H i Prd-l & g rfieo 9= i 4 75 $Hlfed G- & SMYR T HH: BH

Caﬂzﬁﬂ'ﬁﬂrﬂ% 0=C,=C=C;=0

A &
3733
s e R O
34+2: +2:0
4.0 4% +2
Options :

85133016573. 1
85133016574. 2
85133016575. 3
85133016576. 4

Question Number : 95 Question Id : 8513304148 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

Select the correct option for the relationship between root mean square speed (U;,,s), average
speed (U,,) and the most probable speed (Up)

1. Upms > Ump > Uay
2. Upms > Uy > Ur‘"up
3. Ugy > Uﬂp * Ums
4. Ump > Umns > Ugy
Options :
85133016577. 1
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85133016578. 2
85133016579. 3
85133016580. 4

Question Number : 95 Question Id : 8513304148 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

G A HA I (U, ), FEG A (U,,,) TUT WRSTH & (U,,,) & a9 G o o7 9! fdaed

i1 =

1714 .

I Upns = U = Uy,
2. Uppps > Ugy > Ump
3. Uy, > Uﬂp > Ume
4. Urr:_::- > Upms > Ugy
Options :
85133016577. 1
85133016578. 2

85133016579. 3
85133016580. 4

Question Number : 96 Question Id : 8513304149 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

Out of 3s, 3p, 3d and 4s orbitals, which has maximum energy?

1. 35

2 3p

3:3d

4 4s
Options :
85133016581. 1
85133016582. 2

121/191



WWW.AGRIGYAN.IN

85133016583. 3
85133016584. 4

Question Number : 96 Question Id : 8513304149 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

3s, 3p, 3d TUT 4s H [PHS| ol GaldD o7

1. 3s

2. 3p

3. 3d

4. 45

Options :
85133016581. 1
85133016582. 2

85133016583. 3
85133016584. 4

Question Number : 97 Question Id : 8513304150 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

A golf ball has a mass of 46g and a speed of 45 m/s. If the speed can be measured within
accuracy of 3%, what will be the uncertainty in the position?

1. 8.4x10* m
2. 64x103 m
3.6.6x10F% m
4, 2.1x10* m
Options :

85133016585. 1

85133016586. 2
85133016587. 3

122/191



WWW.AGRIGYAN.IN

85133016588. 4

Question Number : 97 Question Id : 8513304150 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

U Tie 9T @] S04 469 T 39S 97 45m/s & | TG o1 i 3% @1 JUrddT I {197 7 abd
& Rufa o Tat ARi&dd gel 2

1. 84x10>* m
2. 64x10F m
3. 6.6x103% m
4 2.1x10>* m
Options :

85133016585. 1
85133016586. 2

85133016587. 3
85133016588. 4

Question Number : 98 Question Id : 8513304151 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

If the density of 3M solution of NaCl is 1.25 gmL™, then what is its molality?

1. 279 m
2.3.50 m
3.41m
4.02m
Options :
85133016589. 1
85133016590. 2
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85133016591. 3
85133016592. 4

Question Number : 98 Question Id : 8513304151 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
gl Nacl & 3M 99 &1 99w 1.25 gmL" 1 dl SH®! Hieiare! &1 gRil ?

1. 279 m
2.3.50m
3.41m
4.02m
Options :
85133016589. 1
85133016590. 2

85133016591. 3
85133016592. 4

Question Number : 99 Question Id : 8513304152 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

Classical smog is a mixture of

1. Fog and SO3

2. Fog and S0;

3. Fog, smoke and 50;
4. Fog, smoke and S0O3
Options :

85133016593. 1

85133016594. 2
85133016595. 3
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85133016596. 4

Question Number : 99 Question Id : 8513304152 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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T SR (Gl®] YHGe) & U Gel fdded gHu -

1. DB TUT SO; BT 0T

2. Pes aul SO, &I [y

3. P, Yaif quT S0, @1 fasm
4, DET, Y3 aUT S0; B Hym
Options :

85133016593. 1

85133016594. 2

85133016595. 3

85133016596. 4

Question Number : 100 Question Id : 8513304153 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT a green house gas?

1. 43

2. CHy

3. O

4 CO

Options :
85133016597. 1
85133016598. 2

85133016599. 3
85133016600. 4

Question Number : 100 Question Id : 8513304153
Options :

Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1
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COs, CHy, O3 TUT CO B T BIH U1 ¥H 8189 79 7ol o7

1. A3

2. CHy

3. O

4. CO
85133016597. 1
85133016598. 2
85133016599. 3
85133016600. 4

Part III Mathematics 6

Section Id : 85133056
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 85133060
Question Shuffling Allowed : Yes

Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1
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Question Number : 101 Question Id : 8513304154

Let n(4) = 50, n(A'UB') = 45 and n(U) = 70, the value of n(a-B) is

1.15

2. 20

325

4.30

Options :
85133016601. 1
85133016602. 2

85133016603. 3
85133016604. 4

Question Number : 101 Question Id : 8513304154 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

A1 ool & n(4) = 50, n(4A'UB’) = 45 Y1 n(U) = 702179, n(4A— B) PTHAT:

1. 15
20
25

30

CE

Options :

85133016601. 1
85133016602. 2
85133016603. 3
85133016604. 4

Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1
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Question Number : 102 Question Id : 8513304155

Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1
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If g(f(x))=|cosx| and flgix)) = (cos ,_Ij then

1 f(x) = cos®x, g(x) = Vx
2. f(x) = cosx ,g(x) = |x|
3. f{x)=x% g(x) = cosvx

4, f and g cannot be determined

Options :

85133016605. 1
85133016606. 2
85133016607. 3
85133016608. 4

Question Number : 102 Question Id : 8513304155 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

g g(f(x)) = lcosx| 3R f(g(x)) = (cos \Ejz g, dl

1. f(x) = cosx, g(x) = Vx &I
2. f(x) = cosx,g(x) = |x| BI
3. f(x)=x2,g(x) = cosvx &I

4. f 3R g @I MeiRka =21 fvar o Gobai 5|

Options :

85133016605. 1
85133016606. 2
85133016607. 3
85133016608. 4

Question Number : 103 Question Id : 8513304156 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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If f(x) = sin[m?])x + cos[-m]x , where [.] stands for the greatest integer function, then the value
£
of {[4) is

Options :

85133016609. 1
85133016610. 2
85133016611. 3
85133016612. 4

Question Number : 103 Question Id : 8513304156 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

gie f(x) = sin[n?]x + cos[-m?]x B && [] HHUSHdIH Ulies Wi B Fefid @l 8, dl
f (g) HAAE

Options :

85133016609. 1
85133016610. 2
85133016611. 3

85133016612. 4
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Question Number : 104 Question Id : 8513304157 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

If sing and cos@ are the roots of the equation ax® + bx + ¢ =0, then a,b and ¢ satisfy the
relation

l.a*+c*+2ab=0
2.a*—b*—2ac=0
3.a*+b*+2ac=0
4. a0*—b*+2ac=0
Options :
85133016613. 1
85133016614. 2

85133016615. 3
85133016616. 4

Question Number : 104 Question Id : 8513304157 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

aie sing AR cose FHIBI ax? + bx + ¢ = ﬂ?ﬁﬂﬁ%ﬁ#{a. b AR ¢ FEfEiEd Hay H5qp

lLa’+c2+2ab=0
2.a*— b*— 2ac=0
a2+ b*+2ac=0
4a°—b*+2ac=0
Options :

85133016613. 1
85133016614. 2

85133016615. 3
85133016616. 4
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Question Number : 105 Question Id : 8513304158 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

In (0,m), the number of solutions of the equation tan x + tan 2x + tan 3x = tan x tan 2x tan3x is

22
3.4
4.0

Options :

85133016617. 1
85133016618. 2
85133016619. 3
85133016620. 4

Question Number : 105 Question Id : 8513304158 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

(0,m) #H, GHIBRU tanx + tan2x + tan3x = tanx tan2x tan3x B Tl ® YL & :

1

e
N ¥

0
Options :

85133016617. 1
85133016618. 2

85133016619. 3
85133016620. 4

Question Number : 106 Question Id : 8513304159 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1
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_ 1 .2 4 :
The sum tan™! =+ tan™' =+ tan~ ! —+ --- o0 is equal to
3 9 33

e

2.
3. n

4. Infinity
Options :
85133016621. 1
85133016622. 2

85133016623. 3
85133016624. 4

Question Number : 106 Question Id : 8513304159 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

1 Z 4
tan - +tan -+ tan ' — 4 .00 BIAA B
3 9 33

2.

O RE=T N

3 546

4, 3T (3URfFE)

Options :

85133016621. 1
85133016622. 2
85133016623. 3
85133016624. 4
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Question Number : 107 Question Id : 8513304160 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

: . + - . .
It a matrix 4; = [j - i A 3 2]..4.5?‘1 , then |4, | + |4,] + |45| + - + |4,,] is equal to

1. 100

2. 200

3. 400

4, 38

Options :
85133016625. 1
85133016626. 2

85133016627. 3
85133016628. 4

Question Number : 107 Question Id : 8513304160 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

R g A =11 AT AN B 4y + (4] + ]+ o+ |4y TRE:

1. 100

2. 200

3. 400

4. 38

Options :
85133016625. 1
85133016626. 2

85133016627. 3
85133016628. 4

Question Number : 108 Question Id : 8513304161 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1
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cos{8@ + @) —sin(f+0) cos2P
The determinant, A= sin @ cos 8 sin@ | is
—cos8 sind cos @

1. Equal to O
2. Independent of g

3. Independent of @
4, Independent of both # and @

Options :

85133016629. 1
85133016630. 2
85133016631. 3
85133016632. 4

Question Number : 108 Question Id : 8513304161 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ERUGH
cos(@ +©®) —sin(@ +0) cos20
A= sinéd cos @ sin @
—cosé@ sin @ coso
1.0 & SXIeE 8|
2. g UEdA gl
3.0 iWEdT gl
4.9 3R paHl T WA Bl
Options :

85133016629. 1
85133016630. 2
85133016631. 3
85133016632. 4

136/191



9/18/2020

Question Number : 109 Question Id : 8513304162 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

Let flx+¥) = f(x).f(¥) and f(x) = 1+ (sin4x). g(x), where g(x) is a continuous function and

1 :
gl(o) = 5 Then f'(x) is equal to

1 f(x)

2. 2.f(x)

3. flx).g(x)

4, (sin4x). g'(x)
Options :
85133016633. 1
85133016634. 2

85133016635. 3
85133016636. 4

Question Number : 109 Question Id : 8513304162 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

AL @ F(x +y) = F0).f(y) T F(x) = 1+ (sin4x). g(x) & 98l g(x) TP Haa
B § R 0) = 5 1T f/(x) RaRE:

1. f(x)

22, (%)

3. f(x).g(x)

4. (sin4x). g'(x)

Options :

85133016633. 1

85133016634. 2

85133016635. 3
85133016636. 4
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Question Number : 110 Question Id : 8513304163 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

x : . . dy,
If 4 —2¥ = 1, then the value of 3(lima) is

=1

1
2
9

3Iogef

W

N

Options :

85133016637. 1
85133016638. 2
85133016639. 3
85133016640. 4

Question Number : 110 Question Id : 8513304163 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

e — 2 - 139 5(mD) A

x—codx

e

L g
L A

PEE.

Sfaggt

Options :

85133016637. 1
85133016638. 2
85133016639. 3
85133016640. 4
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Question Number : 111 Question Id : 8513304164 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

If x = f(t).cost — f'(t)sint and y = f(t).sint + f'(t)cost, then the value of (“;‘} + (‘i_"] is
L Gl

1. Fity—F ()

2. [f(e)—f(o))f

3 [Fe+ FroF

4. independent of t

Options :

85133016641. 1
85133016642. 2
85133016643. 3
85133016644. 4

Question Number : 111 Question Id : 8513304164 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

gig x = f(t).cost—f(t).sint YT y = f(t).sint + f'(t).cost, (il] (il) DI
¢ t

1) —f (D

2. [f(e) — " (O
3. [F) + ()
4t @A

Options :

85133016641. 1
85133016642. 2
85133016643. 3
85133016644. 4
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Question Number : 112 Question Id : 8513304165 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

The minimum value of f(x)=x.log.x is equal to

[

B
|
|

Options :

85133016645. 1
85133016646. 2
85133016647. 3
85133016648. 4

Question Number : 112 Question Id : 8513304165 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

f(x) = x.log,x B TAqH HH & & -

1

2

M| = W

3. —e
41

e
Options :
85133016645. 1
85133016646. 2
85133016647. 3

85133016648. 4
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Question Number : 113 Question Id : 8513304166 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

1—x

Let fix)=tan™? ( :

T ] Then the difference between the greatest and least value of f(x) in [0.1]
|

IS

B |

|

=
|

Options :

85133016649. 1
85133016650. 2
85133016651. 3
85133016652. 4

Question Number : 113 Question Id : 8513304166 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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AT & f(x) = tan™? {i —

v
+ X

j%l T4, [0, 11H f(x) T AmaH IR T8 TF1 3T AR &

5

M
WAk 3 H

4

Options :

85133016649. 1
85133016650. 2
85133016651. 3
85133016652. 4

Question Number : 114 Question Id : 8513304167 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

J e *dx s equal to

-
|

2.
3.
-

Pud | b= B3| = Bud | =

Options :

85133016653. 1
85133016654. 2
85133016655. 3
85133016656. 4
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Question Number : 114 Question Id : 8513304167 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

f e "X dx T & :

.es"“_l*’.[x 441 = xz] +c

B | =

2. esmTX 1 —-x2+¢
1 —
35.[1—%«;1—12]—%1:

4.i.es"”_lx[x — 1= xz] +c
2

Options :

85133016653. 1

85133016654. 2

85133016655. 3

85133016656. 4

Question Number : 115 Question Id : 8513304168 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

Let f:R — R and g:R — R be continuous function Then the value of the integral

'

. [F(x)+ fi—x)]. Lglx) — g(—x))dx is

EE O -

Options :
143/191
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85133016657. 1
85133016658. 2
85133016659. 3
85133016660. 4

Question Number : 115 Question Id : 8513304168 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

AA AN & f:R - R 3R g:R — R Ydd %o gl I8, TS
It
l4

[ e+ F=01. 9 - g(-ax

s

el
1

P |

2:—1

4.0

Options :
85133016657. 1
85133016658. 2

85133016659. 3
85133016660. 4

Question Number : 116 Question Id : 8513304169 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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¥ o .
The area enclosed between the curves |x|+ |y] = 2 and =5

1. (6w — 4)sq.units
2. (6w — B)sq.units
3. (3w — 4)s5q.units
4, (3w — 2)sq.units
Options :
85133016661.
85133016662.

1
2
85133016663. 3
85133016664. 4

Question Number : 116 Question Id : 8513304169 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :

2 2 -
Bl x|+ |yl = 2R 2 4 Y _  odaduRes damat:
- 9 ' 4

Options :

85133016661. 1
85133016662. 2
85133016663. 3
85133016664. 4

Question Number : 117 Question Id : 8513304170 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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The differential equation satisfied by the curve ax? + by* =1 is

1. xyy, +yf +yy, =0
2. xyy; +xyi —yy, =0
3.xyy; —xyE +yy, =0

4.t;j5-+;f——yy]::ﬂ

Options :

85133016665. 1
85133016666. 2
85133016667. 3
85133016668. 4

Question Number : 117 Question Id : 8513304170 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

9% ax? + by? = 1 GRTUGY & adll 3adhd G0 & -

Lxyy, +yf +yy =0
2.Xyys +xy; —yy; =0
XYY, —X¥f +yy; =0
4.xyy, +¥f —yn =0
Options :

85133016665. 1
85133016666. 2

85133016667. 3
85133016668. 4

Question Number : 118 Question Id : 8513304171 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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The curve passing through the point (0,1) and satisfying the differential equation

i b L . | .
xdx + ydy = x*ydy — y*xdx is a conic whose eccentricity is T The value of 4 is

1
1
2

]

s
[

1.
2.
3.
4,

| =

B

V
Options :

85133016669. 1
85133016670. 2
85133016671. 3
85133016672. 4

Question Number : 118 Question Id : 8513304171 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :

1
%@[G. 1) @%ﬁmﬁﬁaﬁﬂﬁiﬂw—\qﬁw xdx+ydyv = x%yvdy— yixdx ﬁﬂ@gﬁﬁ?ﬂ

9% U Uidd &, forgd] Saadl % HP A

1.
2.

3.

e s N I
)

A4 —
V2

Options :

85133016669. 1

85133016670. 2

85133016671. 3

85133016672. 4
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Question Number : 119 Question Id : 8513304172 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

Let a,b and ¢ be distinct real numbers. The points with position vectors ai + bj + ¢k,
bi + ¢j + ak, cf + af + bk

1. are collinear

2. form a right-angled triangle
3. form a scalene triangle

4. form an equilateral triangle
Options :

85133016673. 1

85133016674. 2

85133016675. 3
85133016676. 4

Question Number : 119 Question Id : 8513304172 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks :
1

A T a, b 3R ¢ o1 43 areaide ST § | R 9G2 ai + bj + ck, bi + cj + ak
AR ci + aj + bk 9 fdg

1. WE gl

2. U HSI el &41d 2|
3. U fquHeTg By 991d B
4, U HTg Ay §41d €
Options :

85133016673. 1

85133016674. 2
85133016675. 3
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85133016676. 4

Question Number : 120 Question Id : 8513304173 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

If a parallelopiped is formed by planes drawn through the points (3.6,8) and (5,8,10) and
parallel to the coordinate planes, then the length of diagonal of the parallelepiped is

B3] a3l

1. 24
2. 3y
3. 42
4.3
Options :

85133016677. 1
85133016678. 2

85133016679. 3
85133016680. 4

Question Number : 120 Question Id : 8513304173 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

faigsif (3, 6,8) 3R (5, 8, 10) T IR TUT FED FHAA! & FAIR YHI Wi B 4 TD
JHIRYCHha® & [domUl & a4l 6

1. E\E
2. 3\,@
3.2

4.3

Options :
85133016677. 1
85133016678. 2

85133016679. 3
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85133016680. 4

Question Number : 121 Question Id : 8513304174 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1
—1 y—2 z—3

- . X ; il . posae
The line S intersects the curve xy = 4, in xy-plane if value of 4 is

EE I -
0 |
'D-[l‘-

-8

Options :

85133016681. 1
85133016682. 2
85133016683. 3
85133016684. 4

Question Number : 121 Question Id : 8513304174 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

e E Yre  Ead o xy = A @ xy - GHIA | Wfae ol 6, A A PTAAE

Options :

85133016681. 1
85133016682. 2
85133016683. 3
85133016684. 4
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Question Number : 122 Question Id : 8513304175 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

letd=2i—j+3k, b=i+2j+kand {=1—2j+ 2k

: _ ? N . : 1.
A vector in the plane of @ and b whose projection on ¢ has the magnitude equal to 3 15

1. %:‘_5?— 25§ + 12k)
2,117+ 17j + 12k
3. ;fun 17j + 12k)
4, 11T+ 174+ 12k
Options :
85133016685. 1
85133016686. 2

85133016687. 3
85133016688. 4

Question Number : 122 Question Id : 8513304175 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
qA AR S d=20—j+3kb=i+2j+k R é=1—2j+3ke8 d R p Q@
T ue afew, o ¢ mﬂﬁﬁﬁuﬁﬂm%?ﬁméﬁaﬁfﬁaﬂ%:

1 ﬂ
13 (51— 25] + 12k)
11T+ 175 + 12k

s

L

1 5
.5(11?+ 17§ + 12k)
4. —117+ 17f + 12k

Options :
85133016685. 1
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85133016686. 2
85133016687. 3
85133016688. 4

Question Number : 123 Question Id : 8513304176 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

Two distinct numbers are selected from the set 4 = {1,2,3,---,9) , then the probability that their
product is a perfect square is

[
e | D | B |

N
L

Options :

85133016689. 1
85133016690. 2
85133016691. 3
85133016692. 4

Question Number : 123 Question Id : 8513304176 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1
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=Y A = {1,2,3,---,9) H 9 al i T g il 1| 9, 39@! Uihdal b 34 J=af &
TUFHd U gul 91 8, Fafdafad g ;

O Wl | 2o | pad | =

Options :

85133016689. 1
85133016690. 2
85133016691. 3
85133016692. 4

Question Number : 124 Question Id : 8513304177 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Two friends visit a mall randomly during 6:00 pm to 7:00 pm. Among the two friends, whoever
comes first waits for 20 minutes and then leaves. The probability that they meet is

1.
2.
3.

7 i

36
Options :
85133016693. 1
85133016694. 2

85133016695. 3

| bl | LMD o
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85133016696. 4

Question Number : 124 Question Id : 8513304177 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

&l 7 6:00 pm 31R 7:00 pm & &9 | U Hic H Grefesd €U H A 81 39 GHi #El § 5 o
UEd UgAd 8, 20 e d@ Sa9R @Rl & auT fthe aray 9o ordl § | S9! Wil & 3 gt
ESUMEEIRITEERS

[ =

L
|I-—1f.-¢|l—-*\D|U'|'~D|-l3-
H

iy

36
Options :
85133016693. 1
85133016694. 2
85133016695. 3
85133016696. 4

Question Number : 125 Question Id : 8513304178 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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I'n'
=

The minimum value of z = 13x — 15y subject to the constraints x+y =7, 2x -3y = -6 ,x =

y=0is

1.0

2i~30
3. =21
4 97

Options :

85133016697. 1
85133016698. 2
85133016699. 3
85133016700. 4

Question Number : 125 Question Id : 8513304178 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

Ul x+y<7,2x—3y = —6,x > 0,y = 0 & 3l¥id z = 13x — 15y DI YAFH I 3 :

1.0

2. - 30

S S

4. 97

Options :
85133016697. 1
85133016698. 2

85133016699. 3
85133016700. 4

Question Number : 126 Question Id : 8513304179 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Foralln e N , 3.5 4 237+ i5 always divisible by

1.19
2

3.23

4. 25

Options :
85133016701. 1
85133016702. 2

85133016703. 3
85133016704. 4

Question Number : 126 Question Id : 8513304179 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

Gl ney @ T84, 3.52n+1 4 23n+1 FUfARgg 9@y gRI 9ol AU &

ST —
St N s

CE N A
L

| I
(9]

Options :

85133016701. 1
85133016702. 2
85133016703. 3
85133016704. 4

Question Number : 127 Question Id : 8513304180 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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If |z— 4| + |z + 4| = 10, then the difference between the maximum and the minimum value of

|z| is

2
3.J41-5
40

.2
e

Options :

85133016705. 1
85133016706. 2
85133016707. 3
85133016708. 4

Question Number : 127 Question Id : 8513304180 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

U |z — 4] + |z + 4| = 10 B T |z| T fdHad R a9 4 BT AR -

i
(§¥]

[
(W

3.441-5
4.0

Options :

85133016705. 1
85133016706. 2
85133016707. 3
85133016708. 4

Question Number : 128 Question Id : 8513304181 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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If the letters of the word "ROTATE" are written in all possible orders and these words are
written out as in a dictionary, then the rank of the word "ROTATE" is

1. 210
2: 211
3. 212
4 213

Options :

85133016709. 1
85133016710. 2
85133016711.3
85133016712. 4

Question Number : 128 Question Id : 8513304181 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

afe; et "ROTATE" & 3f&RI ol Gl Fua ol H ferar o1l & a1 € 39 UBR forar oifar & S
% U It - DI H foad §, ai e "ROTATE” &1 = 8 ;

1.210dl
2.211dl
3. 2124l

A2

4 2134dl

Options :

85133016709. 1
85133016710. 2
85133016711.3
85133016712. 4

Question Number : 129 Question Id : 8513304182 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The total number of integral solutions for (x,y.2z) such that xyz = 12 is

1.10

2.72

3.4

4.60
Options :
85133016713. 1
85133016714. 2

85133016715. 3
85133016716. 4

Question Number : 129 Question Id : 8513304182 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

(x, y, Z) @ [SIC YUiold gall @i oo S, dlfd xyz = 12 8, Fafafad &

1. 10
72

60

Options :

85133016713. 1
85133016714. 2
85133016715. 3
85133016716. 4

Question Number : 130 Question Id : 8513304183 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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If ‘a’ is the coefficient of the middle term in the expansion of (1 + x)?" and 'b’ is the sum of the
coefficients of the two middle terms in the expansion of (1 +x)**! n e N, then

Tl.a=b
2a<h
3a=2b
4. b=2a

Options :

85133016717. 1
85133016718. 2
85133016719. 3
85133016720. 4

Question Number : 130 Question Id : 8513304183 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

e (1 + x> FUAR HAG UG BI 0D '3 " & a4l (1 + x> & YGR H &Hi 49 Uel & Ui
BTN ' b'8, 98l ne N & d

1.a=bgl
2.a<bgl
3.a=2bgl
4.b=2atgl

Options :

85133016717. 1
85133016718. 2
85133016719. 3
85133016720. 4

Question Number : 131 Question Id : 8513304184 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
160/191



9/18/2020

Cos &

The greatest value of the term independent of x in the expansion of (xsin = + )9, x€ER,is

122
10!

" (51?
1 10!
" 257(51)2
1
4. 10;..—

"-'-:.'2!:

2

Options :

85133016721. 1
85133016722. 2
85133016723.3
85133016724. 4

Question Number : 131 Question Id : 8513304184 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

Cos & -, -, .
(xsin o« + ——)10 x e R D YUR H, x T WA UG B AAHIH A & -
X

d o
10!

(51*
1 10!

25 (51?2

2.

1
4, 1{}04'2_5
Options :
85133016721. 1
85133016722. 2
85133016723.3
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85133016724. 4

Question Number : 132 Question Id : 8513304185 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

In a geometric progression consisting of positive terms, each term is equal to the sum of the
next two terms. Then the common ratio of this progression is equal to

| o
1. El.'—] — W)
2 ¥

g

3 ufE

1

4.5[\-5— L)
Options :

85133016725. 1
85133016726. 2
85133016727.3
85133016728. 4

Question Number : 132 Question Id : 8513304185 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

YHIH® Ua dlcll U UITR 3¢1 H, Ul UG SffTd Gl Ual o IF & aRIaR o] dd, 39 4] &I 9rd

HUTd ETER B :

1.%(—1—@)

y) V5

2

3.4/5

4.3(15—1)
2
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Options :
85133016725. 1
85133016726.2
85133016727. 3
85133016728. 4

Question Number : 133 Question Id : 8513304186 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

a and b are integers with a=b=0. A is the point (a,b) in the cartesian plane. B is the reflection of
A in the line y=x. C is the reflection of B in the y-axis, D is the reflection of C in the x-axis and E
is the reflection of D in the y-axis. The area of the pentagon ABCDE is

1. 2a{a+b)

2. 2ala+3b)

3. a(2a+3b)

4, ala+3b)
Options :
85133016729. 1
85133016730. 2

85133016731. 3
85133016732. 4

Question Number : 133 Question Id : 8513304186 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1
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a>b>0® Y a3Rb 0N gl HIcid GHaa 4, A fdg (3, b) 81 Wy = x T 5, fdg A &1
TR &1 C f8g B Ty - 38 7 OXIaeH &, D g € 1 - 1 H IIacH s auTE g D d y - ofe
¥ WRaaH g | 99, Y94 ABCDE &I &A% & ;

1.2a(a+b)
2 2a(a + 3b)
3.a(2a + 3b)
4.3 (a + 2b)
Options :

85133016729. 1
85133016730. 2
85133016731. 3
85133016732. 4

Question Number : 134 Question Id : 8513304187 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

Let x, y be real variables satisfying x* + y* —6x +4y +9 =0 Leta = max{(x +2)* + (v —3)%}
and b = min{{x + 2)* + (v — 3)?} Then,

T.a+b="54
2.a—b=20y2
3.ab =2116
4da+b=40y2

Options :

85133016733. 1
85133016734. 2
85133016735.3
85133016736. 4

Question Number : 134 Question Id : 8513304187 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1
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O T e x 3R y THIdR0 %2 + ¥2 — 6x+ 4y +9 = 0 B UqP & dId aaiad = ol T8
W HATE [P e =max{(x+2)2+ {}-‘—3}:}%?[?”.?_1:111111{{_x+ 2%+ (v—3)%) %I GER

l.a+b=54%l
2.0—b =202 ¢!
3.ab =2116 B
4da+b=40y2Z%
Options :

85133016733. 1
85133016734. 2
85133016735.3
85133016736. 4

Question Number : 135 Question Id : 8513304188 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

The coefficient of variation of two distributions are 30 and 25 respectively and their arithmetic
means are 10 and 5 respectively. The difference between their standard deviations is

1.3

2. 1.75

31,5

4.1.25
Options :
85133016737. 1
85133016738. 2

85133016739. 3
85133016740. 4

Question Number : 135 Question Id : 8513304188 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1
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&l §el d UERUI - TUlids HEE: 30 SR 25 § qYT 33 YHIAR A1 HHTE: 10 AR 5 5| 3Hd HHD
o @ A & :

1.3

2. 1.75

31,5

4.1.25
Options :
85133016737. 1
85133016738. 2

85133016739. 3
85133016740. 4

Question Number : 136 Question Id : 8513304189 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

If ¥is the mean and MD(X) is the mean deviation from mean, then the number of observations
lying between ¥ — MD(¥) and ¥ + MD(X) for the data 66, 34, 38, 30, 50, 44, 60, 40, 51, 42 is

1.3

2.4

3.5

4.6

Options :
85133016741. 1
85133016742. 2

85133016743.3
85133016744. 4

Question Number : 136 Question Id : 8513304189 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1
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afe & A9 § YT A1 Y A1 fd9eH £ — MD (%) B, Ol 351 66,34,38,30,50,44,60,40,51,42
fef0 ¥ — MD (%) 3R ¥ + MD(¥) & &9 3 arct Y&l &) 98T 8 :

1.3

2.4

35

4.6

Options :
85133016741. 1
85133016742. 2

85133016743.3
85133016744. 4

Question Number : 137 Question Id : 8513304190 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

The statement p — (g < p) is equivalent to

TLp—=(p—q)
2.p—
3p—~

(

(= q)
(pva)
4p-(nrq
Options :

85133016745. 1
85133016746.2
85133016747. 3

85133016748. 4

Question Number : 137 Question Id : 8513304190 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1
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BUT p - (q < p) FERETS T8

Lp—=(p<q)
2p—=({@—q
3p—=(pvy)
4p-=(prq)
Options :
85133016745. 1
85133016746. 2

85133016747. 3
85133016748. 4

Question Number : 138 Question Id : 8513304191 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

The system of inequalities 2x —y = -1,y <2x,x 20, y = 0 has

1. one solution

2. infinite number of solutions
3. finite number of solutions
4. no solution

Options :

85133016749. 1

85133016750. 2

85133016751. 3
85133016752. 4

Question Number : 138 Question Id : 8513304191 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1
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rgfE®Rf 2y —y<—1,¥=2x, x 20,y 20 $ﬁﬁmﬁ[$}-

1. UH B4 &

2 JURa SET H gd 8l
. URFa g Hgd sl
4. ®I% 5 el 5|
Options :

85133016749. 1
85133016750. 2

85133016751. 3
85133016752. 4

Question Number : 139 Question Id : 8513304192 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

A particle is moving in a straight line according to the formula S(t) =¢t* —9t*+ 3t + 1 , where
S is measured in meters and t in seconds. Acceleration of the particle when its velocity is
-24m/s is

1.0 m,’S2

2.7 m/s*

3.3 m/s*

4 -3 r‘r1,.!5z
Options :
85133016753. 1
85133016754.2

85133016755.3
85133016756. 4

Question Number : 139 Question Id : 8513304192 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1
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DI DU D WA G H G s(t) = ¢2— 962+ 3¢ +1 B YR I W1 &, 55l s Bf e 7 A
T g OYT t © YHUs! H| 35U U @ 39 GHY @0, 9 9@ 37 - 24 m/s &, FAad & ;

1.0 m,’S2

2.7 m/s*

3.3 m/s*

4 -3 m,fsz
Options :
85133016753. 1
85133016754.2

85133016755.3
85133016756. 4

Question Number : 140 Question Id : 8513304193 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If the resultant of two forces of magnitudes P and 2P is perpendicular to P, then the angle
between the two forces is

g it
2t

3:

4.

Options :

85133016757. 1
85133016758. 2
85133016759. 3
85133016760. 4
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Question Number : 140 Question Id : 8513304193 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

afg i p iR 2p A Gl sl S URUEi sa p R a8, digT gl gal oD BT HI & ¢

[

A
.

Options :

85133016757. 1
85133016758. 2
85133016759. 3
85133016760. 4

Question Number : 141 Question Id : 8513304194 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4 Wrong Marks : 1

5m
6
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Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R
Assertion A: Period of the function f(x) = sin*x + cos*x is

o | M

A A . o T
Reason R: If f(x) = sin*x+ cos*x then f(x) attains local minimum value at x = 5

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

85133016761. 1

85133016762. 2

85133016763. 3
85133016764. 4

Question Number : 141 Question Id : 8513304194 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Hid &l ®y feu MU B : U bl DY (a) FET 1 & aY1 gUL DI SRYT (R) Hel 741 5l
&{ﬁ-@%ﬂ(,ﬁ};w flx) = sin®*x + cos*x T 3ad g:‘lﬂ

BRU (R) : TG £(x) = sin*x+ cosx B, W x = gm f(x) R <Y 9 U BT 8

IWRIdd HYH! B EPId Wd gY, i U fasmedl ¥ ¥ gy 3u9gd IR 9T

(A) 3R (R) TH FE1 § TUT (A) BT (R) Tl WPIH ¢

(A) 3R (R) G TE1 &, T (A) BT (R) T8 SO 961 B
(A) Hel &, U%d (R) Hel el &1

(A) el el €, U] (R) ¥l &1

Options :

85133016761. 1
85133016762. 2
85133016763. 3
85133016764. 4

1.
2.
3:
-

Question Number : 142 Question Id : 8513304195 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: The sum of the first 10 terms of the series 1 + (1 —%) 3 {1 +l+i] + .. exceeds 18
ReasonR:a+{a+d)+(a+2d)+-+{a+(n—1)d = ;—1[24:1 + (n— 1)d]

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

85133016765. 1
85133016766. 2
85133016767. 3
85133016768. 4

Question Number : 142 Question Id : 8513304195 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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&l By Ru T B : e @ AfU@m Y (A) T8I & 9YT GO DI BRI (R) T8l T 8

DY (A) - Uit 1+(1+%)+ (1+£+:1})+ o & UYT 10 UG HITAT 18 H D B

2

FRU(R): a+(a+d)+(@+2d)+ .. tla+(x—Ddl = 5 [2a+(x—Dd] 3]

H@ﬁﬁﬁﬁ?@mmﬁ@,ﬁﬁqﬁaﬁﬁﬁﬁm% 30gad 3R 4T -

1. (A) 3TR (R) GFT TEI & YT (A) BT (R) Ta! THiH &
2. (A) 3R aﬁ:ﬁ%ﬂ?ﬁmﬁ ) 951 WPIHI 1ol &
% I:A)P%FTB* 93 (R) Hel a1 81
4, (A) HE1 181 8. T (R) TR B
Options :

85133016765. 1
85133016766. 2
85133016767. 3
85133016768. 4

Question Number : 143 Question Id : 8513304196 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: The area of triangle formed by the points 4(2018,2020), B(2020,2023) and
c(2021,2022) will be same as the triangle formed by the points P(0.0).Q(2.3) and R(3.2)

Reason R: The area of the triangle remains same with respect to transition of coordinate axes

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

85133016769. 1
85133016770. 2
85133016771. 3
85133016772. 4

Question Number : 143 Question Id : 8513304196 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Al Py fGU MU B : U Dl DY (A) el T & aYl §O< Bl HRUI (R) Hel T[T &

AU (A) : [dg3HT A (2018, 2020), 8 (2020, 2023) 3R C(2021, 2022) T T YW BT &AH el
gRT &1 fdgail P(0, 0), @ (2, 3) IR R (3, 2) &4 AYF S slal B

BRI (R) : FE® 315 & RO & Tuel By @1 &% del tedl 8l
IWRIdd HYH! b =PI Wd gY, i U famedl & ¥ gad 3ugdd ok 9iHT :

(A) 3R (R) TFT TET & TUT (A) FT (R) Tl TG0 &1
(A) 3R (R) &HI el €, U3 (A) P (R) HEl TP 71 &
(
[

1.
2
3. (A) U8l &, U3 (R) Ue! el &
A,

Options :

85133016769. 1

85133016770. 2

85133016771. 3

85133016772. 4

Question Number : 144 Question Id : 8513304197 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List 11

List | List 1l
Function Domain
1
b =
l. (—e0,0)
1
B. flx)=
; JIx]=x
LrR-Z
C.flx)=
! JIxl=
. r
D. flx)=log.(x - [x])
V. e

Choose the correct answer from the options given below:

1TA-ILB-LC-IV,D-1
ZA-ILB-IV,C-1,D-1
3A-1ILB-IV,C-1,D-1lI
4 A-ILB-1,C-IV,D-1l
Options :

85133016773. 1

85133016774. 2
85133016775.3
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85133016776. 4 Question Number : 144 Question Id : 8513304197 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Correct Marks : 4

Wrong Marks : 1

f&T U W (Gl 1) @I 39 Wid (Gl 1) 8 gAfd Bifed ;

Gl | Ll
1

AfE)=5——3 . (=0,0)
B f(x}:ﬁm LR—Z
C. flx)=— . R

S x| —x
D. f(x) = log,(x— |x]) V. @
AT feu gu fasedl o ¥ el 3w 9HU;

TA-UILB-,C-IN,D-1i
ZA-NLE-IV,C-1,D-I
3A-ILB-IV,C-1,D-1l
4 A-ILB-1,C-1V,D-1I
Options :

85133016773. 1
85133016774. 2

85133016775.3
85133016776. 4

Question Number : 145 Question Id : 8513304198 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List 11

List | List Il
Definite integral Value
A f i~ x dx .5
& Sin X ax 2
B, f sin x LE—y
1+ cos*x a 2
T
£ J—m . =
| 14+ eotx 4
7,
r 1 I
o [ =
J 1+ g0 i V12

Choose the correct answer from the options given below:

TA-ILB-IV,C-1l,D-|
2A-LB-N,C-N,D-1
3A-ILB-IC-IV,D-1I
4 A-1,B-IV,C-1l,D-1l
Options :

85133016777. 1
85133016778. 2

85133016779. 3
85133016780. 4

Question Number : 145 Question Id : 8513304198 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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feu gu fAfd gared (Gt 1) & 39 9H (G4l 1) T ghfd oifau

g | RSl
: T
A, f_w'n‘lt dx l.—
o
o
iR )
B.f L Y h——1
. 1+ cos2x
rrlra
i iy
C. e — 7 “l._
1[ 1+ +cotx o 4
D.f— dx V. —
1+EEDSJ{' 12
o
i feu gu famedl § ¥ U8l 3w g

TA-ILB-W,C-lIlLD-I
2ZA-1LB-NLC-IV,D-1
SA-ILB-U,C-IV,D-1I
AA-LB-IV.C-1I,D-1I
Options :

85133016777. 1
85133016778. 2

85133016779. 3
85133016780. 4

Question Number : 146 Question Id : 8513304199 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Match List | with List 11

List | List Il
Limits Value
1 2
A [im( - ) .0
r=1%k =1 x°=1
15 _ 1 3
B. lim ——— L. -
x—1 x10 = 1 2
X tan x 1
C. im——— 11, -
x—0] —Ccosx 2
D. i:dn%[sec x—tanx) . 2

Choose the correct answer from the options given below:

TA-LB-ILC-IV,D-1
ZA-ILB-IV,C-1,D-1
3A-IVB-ILC-1,D-1
4A-NLB-1IL,C-IV,D-I
Options :

85133016781. 1
85133016782. 2

85133016783. 3
85133016784. 4

Question Number : 146 Question Id : 8513304199 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

182/191



9/18/2020

&l g5 dimrefl (g 1) B 395 9! (Gl 1) I GHRkid Sifer ;

TA-LB-ILC-IV,D-1l
ZA-ILB-IV,C-L,D-1
3A-IV,B-ILC-1L,D-1
4AA-ILB-ILC-IV,.D-1
Options :

85133016781. 1
85133016782.2

85133016783.3
85133016784. 4

Question Number : 147 Question Id : 8513304200 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

| LSl
1 2
Am—ice—)  |e
ol | 3
M '3
tanx 1
C. lim e 1, —
»—01—CosXx 2
D. E&(sem‘ — tan x) V. 2
= feu gu famedl § ¥ U8l 3w gHu:

Correct Marks : 4 Wrong Marks : 1
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Choose the correct statement(s) from the following
Given 4 and B are two distinct sets,
A. AxB and BxA are equal sets
B.If AxB =0, theneitherA=0org=0
C. n(AxB) #+ n{BxA)
D. 4xB and BxA are equivalent sets
Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Band D only
4. Cand D only
Options :
85133016785. 1
85133016786. 2

85133016787. 3
85133016788. 4

Question Number : 147 Question Id : 8513304200 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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fFafafad o 9 98 Sy gy 9efs A SR s el R gg=g fGu e 8
A. AXB X BxA SHH ¥=H & |

B.UG AXB=0 3, A1 TT A=033T B =073

C. n(AxB) # n(BxA4) B!

D. AXB 3R BxA @ 9H=d gl

Hd feu gu fa@eal § ¥ 98 S gHu -

1. Had A R B
2. Had B AR C
3. ®ad B AR D
4. HadAC AR D
Options :
85133016785. 1
85133016786. 2

85133016787. 3
85133016788. 4

Question Number : 148 Question Id : 8513304201 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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ifd=i-2j+3k, b=—2i+3j- 4k and =1-3f+5k , then choose the correct option(s) from

the following

A. d, b and ¢ are coplanar vectors

B. d.(bxf) # (dxb).¢

C.lai+h b+¢é c+dl=2[a b £

D.la+b+¢|=v21

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Aand Conly
4. A and D only
Options :
85133016789. 1
85133016790. 2

85133016791. 3
85133016792. 4

Question Number : 148 Question Id : 8513304201 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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UG d=1—2j+3k, b=—2{+3j—4kdW ¢=1i—3j+5k
g, i Ffofed 3 § udl oy= g9hu
A @ b 3R ¢ THIaY Uiex 8
B.d.(bx¢) = (@xb).é &
clai+b b+é é+dl=2[a b &%l
D.|d+b +¢é| = V213
g feu gu fd@eal § ¥ 981 S gHu -

1. Had A R B
2. Had B AR C
3. HAd A AR C
4. HAAAARD

Options :

85133016789. 1
85133016790. 2
85133016791. 3
85133016792. 4

Question Number : 149 Question Id : 8513304202 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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1+, 1 : :
let z, = 1 I and z, = = then choose the correct option(s) from the following
— i
Z,\ W
aarg () -3

Bolay=1= ||

1
Clz, +z.l=—
22+ 2,0 = 7
Zy
D.[—=|=2
Zs

Choose the correct answer from the options given below:

1. A and B only
2. A and C only
3. Cand D only
4. B and D only

Options :

85133016793. 1
85133016794. 2
85133016795.3
85133016796. 4

Question Number : 149 Question Id : 8513304202 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Is Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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H i i zl=1i::ﬂiﬂ Z, = L - 1 8, Muitiied 5 ¥ @l YA g0

1+1
)
arg|—| =
A arg =

Hi|
4 J
B.|z4| =1= |32|%|
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A point(s) on the ellipse 4x* +9y* = 36, where the tangent is equally inclined to the axes is/are

Choose the correct answer from the options given below:

1. A and B only
2.4, Band Conly
3.Aand Conly
4. A only

Options :
85133016797. 1
85133016798. 2

85133016799. 3
85133016800. 4
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1. Badd A AR B
2. had A, B IARC
3. had A 3R C
4. Hhad A

Options :

85133016797. 1
85133016798. 2
85133016799. 3
85133016800. 4
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